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Question Number : 1 Question Id : 1908891642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of significant figures in the physical quantity 2.56 x 10° kg is,

1. 1
2. 2
& 3
4. 5
Options :

1908896501. 1
1908896502. 2
1908896503. 3

1908896504. 4

Question Number : 1 Question Id : 1908891642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :



1908896501. 1
1908896502. 2
1908896503. 3

1908896504. 4

Question Number : 2 Question Id : 1908891643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The position - time graph of an object is shown below

X (m)

L%
T T T =

0 4 8 12 tis)

Which one of the statements given below 1s wrong about the motion .

1. Between 0 to 4 s the object is accelerating

2. Between 4 s to 8 s the object 15 at rest

3. Between 8 s to 12 s the object 1s decelerating
4. Between 4 s to 8 s the object’s acceleration =0

Options :

1908896505. 1
1908896506. 2
1908896507. 3

1908896508. 4

Question Number : 2 Question Id : 1908891643 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896505. 1
1908896506. 2
1908896507. 3

1908896508. 4

Question Number : 3 Question Id : 1908891644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two vectors are given,
A=2kand B = -3; .
The vector product of the two vectors 1s
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Options :



1908896509. 1
1908896510. 2
1908896511. 3

1908896512. 4

Question Number : 3 Question Id : 1908891644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088965009. 1
1908896510. 2
1908896511. 3
1908896512. 4

Question Number : 4 Question Id : 1908891645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body 15 initially at rest. It undergoes one dimensional motion with constant acceleration. The
power delivered to 1t at time t 15 proportional to

b —
=t
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Options :

1908896513. 1
1908896514. 2
1908896515. 3
1908896516. 4

Question Number : 4 Question Id : 1908891645 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896513. 1
1908896514. 2
1908896515. 3

1908896516. 4

Question Number : 5 Question Id : 1908891646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass M 1s connected to a spring of spring constant K. It oscillates on the friction less
melined surface as shown in the fig. The tume period of oscillation 1s

Options:

1908896517. 1
1908896518. 2
1908896519. 3
1908896520. 4

Question Number : 5 Question Id : 1908891646 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896517. 1
1908896518. 2
1908896519. 3
1908896520. 4

Question Number : 6 Question Id : 1908891647 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cricket ball 1s thrown at a speed of 30 mv/s 1n a direction 30° above the horizontal. What 1s its
e i ; 2
maximum height? (g=10m/s")

225m
I5m
11.25m
10 m

P LaD D

Options :

1908896521. 1
1908896522. 2
1908896523. 3

1908896524. 4

Question Number : 6 Question Id : 1908891647 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qﬂé’ﬁﬁﬁ'ﬁfﬁ'mmﬁiﬂ"mﬁﬁﬁﬂﬁ301113#@?@%??
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225m
15m
11.25m
10 m

R e

Options:

1908896521. 1
1908896522. 2
1908896523. 3

1908896524. 4

Question Number : 7 Question Id : 1908891648 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A body of mass 5 kg 15 on a smooth horizontal surface. It is acted upon by two perpendicular
forces 8 N and 6 N. which are parallel to the surface. The magmtude and diection of the
acceleration of the body is.

"

I 2m/s . at an angle of tan’I{ 4/3) with the direction of 8 N force.
2. 2m/s", at an angle of tan™ (3/4) with the direction of 8 N force.
3. 20m’s’, atan angle of tan™ (3/4) with the direction of § N force.
4, 20m/s’, atan angle of tan™ (4 3) with the direction of 8 N force.

Options :

1908896525. 1
1908896526. 2
1908896527. 3

1908896528. 4

Question Number : 7 Question Id : 1908891648 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Skg FeUAR 1 1 s et AMifoF 78 W E 30 W FFTd T SN AT 6
N I ST & S 958 F WA g1 a s F w@wor # afAwr AR swEe e
g

1. SN o T fEar & tan’(4/3) F FOT W2 ws’
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3. SNTH T G & tan'(3/4) F FIT W20 m/s
4, SNTF F feam & tan’ (4/3) F BT W20 s’

Options :

1908896525. 1
1908896526. 2
1908896527. 3

1908896528. 4

Question Number : 8 Question Id : 1908891649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one amongst the physical quantity listed below has the same dimension as energy?

toque

angular momentum
moment of inertia
acceleration due to gravity

|

o

Options:

1908896529. 1
1908896530. 2
1908896531. 3
1908896532. 4

Question Number : 8 Question Id : 1908891649 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896529. 1
1908896530. 2
1908896531. 3

1908896532. 4

Question Number : 9 Question Id : 1908891650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What 1s the moment of inertia of a ring about a tangent to the circle of the ring? [M = mass.
R =radius]
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Options :

1908896533. 1
1908896534. 2
1908896535. 3

1908896536. 4

Question Number : 9 Question Id : 1908891650 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896533. 1
1908896534. 2
1908896535. 3
1908896536. 4



Question Number : 10 Question Id : 1908891651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The escape speed of a projectile on the earth's surface 1s nearly 11 km/s. A body 1s projected out
from earth with twice this speed. What 1s the speed of the body far away from earth? Ignore the
presence of the sun and other planets.

1. 200 km's
2. 250 km's
3. Y300 ks
4. V363 kmls

Options :

1908896537. 1
1908896538. 2
1908896539. 3

1908896540. 4

Question Number : 10 Question Id : 1908891651 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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6. 250 kms
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8. 363 kms
Options :

1908896537. 1
1908896538. 2
1908896539. 3

1908896540. 4



Question Number : 11 Question Id : 1908891652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In HCI molecule 'the separation between the nuclii of the two atoms is 1.27 A. The chlorine atom
15 35.5 times as massive as hydrogen atom. and nearly all mass of an atom 15 concentrated in its
nucleus. Find the approximate location of center of mass of the molecule on the line joining H
and C1 nuclit from the H end.

1LOA
12A
125A
09A

|

Options:

1908896541. 1
1908896542. 2
1908896543. 3
1908896544. 4

Question Number : 11 Question Id : 1908891652 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908896541. 1
1908896542. 2

1908896543. 3



1908896544. 4

Question Number : 12 Question Id : 1908891653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A point mass i1s moving with velocity, V in +x direction. V is given by the equation in [ m/s]
3 Baas

V=>5t+10t

where t 1s 1 second. The acceleration of the point mass att=2s1s

Zero

10m's
12m/s
45 m/'s

=] (=]
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Options :

1908896545. 1
1908896546. 2
1908896547. 3
1908896548. 4

Question Number : 12 Question Id : 1908891653 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896545. 1



1908896546. 2
1908896547. 3

1908896548. 4

Question Number : 13 Question Id : 1908891654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 6 kg block rests on the floor has another block of mass 2 kg sitting over it (see figure). The

2 kg block 1s held at rest by connecting to the wall using a cord. What 1s the force needed to pull
out 6 kg block with an acceleration of 1.5 m/s* 7 The coefficient of friction between the two
blocks and 6 kg block and floor1s 0.4 (g=10m )

2kg

6kg — 5 F

33N
41N
49N
52N

[ I

e

Options:

1908896549. 1
1908896550. 2
1908896551. 3
1908896552. 4

Question Number : 13 Question Id : 1908891654 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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33N
41N
49N
52N
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Options :

1908896549. 1
1908896550. 2
1908896551. 3

1908896552. 4

Question Number : 14 Question Id : 1908891655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An incompressible liquid flows through a pipe of radius 4 em. The flow rate is 3.14 x 107 m’s.
What 15 the approximate average velocity of the fluid?

2ms
4ms
S5ms
6m's

|

e L2



Options :

1908896553. 1
1908896554. 2
1908896555. 3
1908896556. 4

Question Number : 14 Question Id : 1908891655 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o T #1 IJATAT e &7 FE 0

2m/s
4m's
Sm/s
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Options :

1908896553. 1
1908896554. 2
1908896555. 3

1908896556. 4

Question Number : 15 Question Id : 1908891656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



; i : y, ; ? \ ,
A vertical wire 5 m long and 8 x 10~ em? cross sectional area has Young's modulus = 200 GPa.
Find the extension mn 1ts length, when a 2 kg object 1s fastened to its free end (see figure).
j.
(g=10m/s")

5m

2kg

0.625 mm
0.65 mm
0.672 mm
0.72 mm

e L s =

Options :

1908896557. 1
1908896558. 2
1908896559. 3

1908896560. 4

Question Number : 15 Question Id : 1908891656 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FE Sm A A8 x 10 e U TS STFS el FeAR IR Forwa a1 A 200
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5m

2kg

0.625 mm
(.65 mm
0.672 mm
0.72 mm
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Options :



1908896557. 1
1908896558. 2
1908896559. 3

1908896560. 4

Question Number : 16 Question Id : 1908891657 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An open - top tank. filled upto a height of 5 m. has a hole at the bottom. What will be the
: ; f 2,
veloeity of water coming out of the hole? (g =10 m/s")

100 mv/s
50 m/s
10 m/s
8 m's

1.
3.
4,

Options :

1908896561. 1
1908896562. 2
1908896563. 3

1908896564. 4

Question Number : 16 Question Id : 1908891657 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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100 nmv's
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3. 10m/s
4, 8mis
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Options :

1908896561. 1
1908896562. 2
1908896563. 3

1908896564. 4

Question Number : 17 Question Id : 1908891658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the translational kinetic energy of one mole of any monatomic 1deal gas at 27° C?
(R=28.3 I/mole K)

37351
3361

124517
830017

o

o

Options :

1908896565. 1
1908896566. 2
1908896567. 3

1908896568. 4



Question Number : 17 Question Id : 1908891658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896565. 1
1908896566. 2
1908896567. 3
1908896568. 4

Question Number : 18 Question Id : 1908891659 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain process 33.5 kJ 1s furnished to the system while the system does 6 kI of work. What
is the change 1n the internal energy of the system?

39.5k]
335k
7.5
6 kI

[ A

Options :

19088965609. 1
1908896570. 2
1908896571. 3

1908896572. 4

Question Number : 18 Question Id : 1908891659 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896569. 1
1908896570. 2
1908896571. 3

1908896572. 4

Question Number : 19 Question Id : 1908891660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0 kg of hydrogen gas at S.T.P. expands 1sobarically two twice its volume, What 1s the final
temperature of the gas?

500K
546K
600 K
046K

B

Options :

1908896573. 1
1908896574. 2
1908896575. 3
1908896576. 4

Question Number : 19 Question Id : 1908891660 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896573. 1
1908896574. 2
1908896575. 3

1908896576. 4

Question Number : 20 Question Id : 1908891661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2.0 g bullet (specific heat of the metal of the bullet 400 kg'i}{'l ) moving at 160 m/s hits a
wall. What s the temperature change of the bullet if all its kinetic energy converts to heat energy
of the bullet?

40°C
32°C
16°C
8°C

B s

Options :

1908896577. 1
1908896578. 2
1908896579. 3
1908896580. 4

Question Number : 20 Question Id : 1908891661 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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40°C
32°C
16°C
8°C

e —

Options :

1908896577. 1
1908896578. 2
1908896579. 3

1908896580. 4

Question Number : 21 Question Id : 1908891662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 .
Two metal plates of area 80 cm™ and thickness 3 mm are soldered together (see figure) . The left

plate's face 1s kept at 100° C and night plate's face 15 kept at 0°C. The thermal conductivity of the
left plate 15 48 Wi 'K and that for the night plate is 68 W K™

What 1s the approximate temperature of the soldered junction ?

21°C
32°C
41°C
61°C

|

Options :
1908896581. 1

1908896582. 2



1908896583. 3
1908896584. 4

Question Number : 21 Question Id : 1908891662 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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21°C
32°C
41°C
61°C
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Options :

1908896581. 1
1908896582. 2
1908896583. 3

1908896584. 4

Question Number : 22 Question Id : 1908891663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A string 180 cm long resonates in three segments to transverse waves sent thorugh it by a 270 Hz
vibrator. What 1s the speed of the waves on the string?

1. 162m's
2. 324mis
3. 364 m/s
4. 374 m/s

Options :

1908896585. 1
1908896586. 2
1908896587. 3

1908896588. 4

Question Number : 22 Question Id : 1908891663 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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162 m/s
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364 m/s
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Options:

1908896585. 1
1908896586. 2
1908896587. 3
1908896588. 4

Question Number : 23 Question Id : 1908891664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The repulsive foree on two equal charges which are separated in vacuum by a distance of 1 km 13
9 kN. The charges on each is :

2C
1C
09C
03C

[

:[_~..:_,,.l_|

Options :

1908896589. 1
1908896590. 2
1908896591. 3
1908896592. 4

Question Number : 23 Question Id : 1908891664 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908896589. 1
1908896590. 2
1908896591. 3

1908896592. 4

Question Number : 24 Question Id : 1908891665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two large metal plates are connected to a 120 V supply (see figure). What 1s the magnitude of
force experienced by an electron placed between the plates (see figure). Assume that the plates

. -19
are in vacuum. (e =-1.6 x 107°C)

2cm

)
4

1. 096x 10N
2. -48x10N
3. 06x10°N
4. 96x 100N
Options :

1908896593. 1
1908896594. 2
1908896595. 3
1908896596. 4

Question Number : 24 Question Id : 1908891665 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e

096x107°N
48x10M°N
96x10"°N
96x 101N

b =

Coll

Options :

1908896593. 1
1908896594. 2
1908896595. 3

1908896596. 4

Question Number : 25 Question Id : 1908891666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A metal sphere mounted on an insulating rod carries a charge of 6uC, when its potential 1s 200V
higher than the surroundings. What 1s the capacitance of the capacitor formed by the sphere and
its surroundings?

jpF
30 pF
3. 300 pF
4. 3000 pF

b

Options :

1908896597. 1
1908896598. 2
1908896599. 3
1908896600. 4

Question Number : 25 Question Id : 1908891666 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fordt weeft ©% T 38 g anfeas Ao A 6uC F e Fafge R S € s
so foore ¢ O & Fore & 3o & 200V 3 &1 3 aen AR s
Zanr fafda wufm & gufmr 7 ¢ 0

3pF

30 pF
300 pF
3000 pF

d b

sk

Options :

1908896597. 1
1908896598. 2
1908896599. 3

1908896600. 4

Question Number : 26 Question Id : 1908891667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A metal rod 15 2 m long and 8 mm mn diameter. What 15 1ts resistance if the resistivity of the
s e 1 s
metal1s 1.76x 10" Qm

7x10°Q
7x10°Q
7x107Q
7x107Q

e T e =

Options :

1908896601. 1
1908896602. 2
1908896603. 3

1908896604. 4

Question Number : 26 Question Id : 1908891667 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fRdt orq & o5 & oS 2 m AR SEH W 8 mm {1 A org Fr qioRiRar
176x 10°QmE aF gfekry F § 2

7x10°Q
7x10°Q
7x10°Q
7x107Q

N U

Options :

1908896601. 1
1908896602. 2
1908896603. 3
1908896604. 4

Question Number : 27 Question Id : 1908891668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A dry cell has an emf of 1.5 V., Its terminal potential drops to zero when a current of 25 A passes
through it. What 1s ifs nternal resistance?

1. 0.01Q
2. 0,049
3. 0.06Q
4. 0.07Q

Options :

1908896605. 1
1908896606. 2
1908896607. 3
1908896608. 4

Question Number : 27 Question Id : 1908891668 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FrdY o W9 T emf 15V 81 38 How fawa 38 297 & 9o =9 & T ¢
9 SHY 25 A H URT TAET Edr &1 SHE AN Iy £

0.01Q
0.04Q
3. 0.06Q
4. 0072

b

Options :

1908896605. 1
1908896606. 2
1908896607. 3

1908896608. 4

Question Number : 28 Question Id : 1908891669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An electric heater of resistance 8 Q draws 15 A current when connected to mains. At what rate 15
the heat developed?

1. 1.2kW
2. 15kW
3. 1.6kW
4. 1.8kW

Options:

19088966009. 1
1908896610. 2
1908896611. 3
1908896612. 4

Question Number : 28 Question Id : 1908891669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8 Q YT aTe FIE FolfFes 2T AT TN9Y ¥ 34 W 15 A f9ggd amr #
feveprerar & aF fohw @7 @ 3°AT 3@ T £ 0

12kW
1.5kW
1.6 kW
1.8 kW

B e R

Options :

19088966009. 1
1908896610. 2
1908896611. 3
1908896612. 4

Question Number : 29 Question Id : 1908891670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A particle of charge q enters a region where an electric field £ =80 kV/m directed as shown in fig.

Perpendicular to £ and directed into the page is a magnetic field B = 0.4 T. The particle is moving with
velocity y towards right (see figure). If the particle is not deflected, what 1s the value of ; ?

E=80kv/m

-

X X.X

Qe {J =
X X B=0.4T

-
o

8x 10° m/s
Ax 10? m/'s
3x10° m/s
2x 10° m/s

Options :

1908896613. 1
1908896614. 2
1908896615. 3

1908896616. 4

Question Number : 29 Question Id : 1908891670 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HAY qFT FS FU1 37 G # Ffawe g § Fgl foeqd &7 5 =80 kV/m A
AR R &1 £ & daaa § 3R 73 & fgRe g 8 5 =04 TR FOT0 AW
Yo e A g ¢ (AT @) s v w Ev afi garg Ao AR § -

E=80kV/m

-

e B

[
X q:;_)x X B=U.4T

8x 107 m's
4x10° m/s
3x10° m's
2x 10° m/s

Options :

1908896613. 1
1908896614. 2
1908896615. 3

1908896616. 4

Question Number : 30 Question Id : 1908891671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Aloop of N turns of wire carries a current I and its plane 1s perpendicular to a uniform magnetic
ficld B (see figure), what 15 torque on the loop?

¥ xtx X

X X

X x B

X X X X

1. Zero

2. NI7R’B

3. NCzRB

4 NE7RB
Options :

1908896617. 1
1908896618. 2
1908896619. 3
1908896620. 4

Question Number : 30 Question Id : 1908891671 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frell R & NgATE F 91 A U IR g § 3 SHh g wHeT
87 B & oFaad ¢ (7 &@). ot amer &7 &l 3ol 7 § 2

X Xx'% X

>
=
o

Ul

NIz R’B
3. NI 7R’B
4. N zR'B

b

Options :

1908896617. 1
1908896618. 2
1908896619. 3
1908896620. 4

Question Number : 31 Question Id : 1908891672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The wire shown in the figure carries a current of 40 A. What 1 the manitude of the magnetic
field at point P? Radius of the loop=2 em. pg=4 » x 10" Tm/A,

0.74 mT
0.94mT
1.24 mT
1.44mT

L
3,
4,

Options :

1908896621. 1
1908896622. 2
1908896623. 3
1908896624. 4

Question Number : 31 Question Id : 1908891672 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



R & QT a0 aR & 40 A F 9T YaIfgd & @ § O g P graehiT &7 H
ofyRToT T & oumer NS = 2emiwg=4 - x 107 Taw/A R

0.74 mT
0.94 mT
1.24 mT
1.44 mT

L.
2,

Options :

1908896621. 1
1908896622. 2
1908896623. 3

1908896624. 4

Question Number : 32 Question Id : 1908891673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . . 1 L 1 -~ .
A solenoid 1s 40 em long, has cross sectional area § em” and 1s wound with 300 turns of wire that
carry a current of 1.2 A, What 1s the magnitude of the magnetic ficld. B for an interior point if
the solenoid's iron core has relative permeability 600,

0.68T
08T
10T
12T

b =

Options :
1908896625. 1
1908896626. 2

1908896627. 3



1908896628. 4

Question Number : 32 Question Id : 1908891673 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬂ'é’trﬁ?rrﬁm;tocmaﬁrﬁl WWHHSCHEE'WWHW?SOGW@
Heg ¢ w124 6 ar garfed & @ & aF AR foeg W Rggdw &3 B
TRHATT FT £, 37 TR F i & F5 F gfEE geEmar 600 8

0.68T
0.8T
1.0T
12T

e o b

Options :

1908896625. 1
1908896626. 2
1908896627. 3

1908896628. 4

Question Number : 33 Question Id : 1908891674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When the current in a certain coil 1s changing at a rate of 3 A/s it 1s found that an emf of 7mV 15
mduced in a nearby coil. What 1s the mutual mductance of the combination.

0.33 mH
1.66 mH
3. 2.00mH
4, 2.33mH

b

Options :

1908896629. 1
1908896630. 2
1908896631. 3

1908896632. 4



Question Number : 33 Question Id : 1908891674 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl e AR Ry e i A aw
F??fﬁhlﬁﬂ&ﬂﬁ%ﬁ??ﬂ'gmﬁwmmmg:

0.33 mH
1.66 mH
2.00 mH
233 mH

|

S S ]

Options :

1908896629. 1
1908896630. 2
1908896631. 3

1908896632. 4

Question Number : 34 Question Id : 1908891675 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A capacitor 1s in series with a resistor of 30 Q and 15 connected to a 220V ac line. The reactance
of this capacitor 1s 30 Q. What 1s the phase angle between the current and the supply voltage?

30°
450
3. -60°
4. 90°

b

Options :

1908896633. 1
1908896634. 2
1908896635. 3

1908896636. 4

Question Number : 34 Question Id : 1908891675 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIS TR 30 Q TR F 4@en # § X 220 V ¥ea=d o)1 § 37 81 g
#r 3008 o AR S A F AT T T AT FAE 0

30°
45°
-60°
00°

e o D =

Options :

1908896633. 1
1908896634. 2
1908896635. 3

1908896636. 4

Question Number : 35 Question Id : 1908891676 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the resonant frequency of a circuit of negligible resistance containing an induetance of
90 mH and capacitance 1600 pF?

716
4. L kHz
T

Options:

1908896637. 1
1908896638. 2
1908896639. 3
1908896640. 4

Question Number : 35 Question Id : 1908891676 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A0y IRuY fEd I &A1 90 mH HRX IR 1600 pF 8. 7 Hefefrel 3mafed ¢ 2

416
l. — kHz
T

515

Options :

1908896637. 1
1908896638. 2
1908896639. 3

1908896640. 4

Question Number : 36 Question Id

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1908891677 Question Type : MCQ Option Shuffling : No Is

Remote switches of TV sets, video recorders and Hi-fi systems use

1. UV rays

2. X -rays

3. py-rays

4. infrared waves
Options :
1908896641. 1
1908896642. 2
1908896643. 3

1908896644. 4

Question Number : 36 Question Id

: 1908891677 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ifada ¥e. i st 3R as - v rea s e s T d wgea e £

1. SUEIAT FRoT
2. X-for
3. y-fovor

g

Options :

1908896641. 1
1908896642. 2
1908896643. 3

1908896644. 4

Question Number : 37 Question Id : 1908891678 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

c

2

permeabilty 1s nearly equal to the free space permeability, p, Its permutrivity « 15 (e, 1s free

The velocity of electromagnetic waves in a material medium 1s — (c=3x 10" m/s). Its

space prmitrivity )
V2 g,

1
- Sy

15

3e,

il

Options :

1908896645. 1
1908896646. 2
1908896647. 3
1908896648. 4

Question Number : 37 Question Id : 1908891678 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mw&ﬂ:wﬁﬁ?@gmﬁmmﬁﬂaﬂ% € (c=3x10°ms). 3

Il {7 87 TR o & T §A ¢ of S0 [Hegaeiien « ¢

(c, FFd &7 faggmefea ¢)

NERE
i ]

4

.'—:u
15,

3

B e

Options:

1908896645. 1
1908896646. 2
1908896647. 3
1908896648. 4

Question Number : 38 Question Id : 1908891679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Suppose the electric field part of an electromagnetic wave i vacuum is
E = E, coslky + wt)i

What 1s 1ts direction of propogation?

1. -k
I
4. j
Options :

1908896649. 1
1908896650. 2

1908896651. 3



1908896652. 4

Question Number : 38 Question Id : 1908891679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A7 wife o feT & el ey edm a & Regdw s o £
E = E, cos(ky + wt)i

A THF TE FT fgom Fam gl 2

L%] [ ] [
—

e
—

Options:

1908896649. 1
1908896650. 2
1908896651. 3

1908896652. 4

Question Number : 39 Question Id : 1908891680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A circular coil of radius 10 em. 100 turns 1s placed with its plane perpendiculars to the horizontal
component of earth's magnetic field (= 3.0 x 10° T), It is rotated about its vertical diameter
through 180° in 0.314 5. What is the magnitude of emf induced in the coil?

3Ix10°V
6x10°V
6x 107V
6x10°V

N N A e

Options :
1908896653. 1
1908896654. 2



1908896655. 3
1908896656. 4

Question Number : 39 Question Id : 1908891680 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe 10c111ﬁmﬁmwmﬁ IOOW(W)H?TMWQFW
G2l & AT 8T (=3.0x10° T)F &l Ueh & oFaad @ Sl g T 03145
ﬁlSGUWmmm$ﬂTﬁmﬂﬁﬂm?m’w#m emf T
QiAo T ¢ ©

3x10%V
6x10°V
6x10°V
6x10°V

o

P

Options :

1908896653. 1
1908896654 2
1908896655. 3

1908896656. 4

Question Number : 40 Question Id : 1908891681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In a meter bridge (fig. below). the balance point is found to be at 40 cm from the end A. when
resistance Y 15 12.0 Q.

The reststance X 1s .

A0 ¥=12.00

] ]

| | | r

Balance point

Im

4Q
gQ
102
14Q

e Lad el

Options :

1908896657. 1
1908896658. 2
1908896659. 3

1908896660. 4

Question Number : 40 Question Id : 1908891681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T e & Yol (A1 fo fear o §) & oo g A B & 40 o 9TT TAT § S
R Y120 QF o X 9feRIY £

X0 ¥=12.00

e

Balance point

im

4Q
g§Q
10 Q
14Q

A L

Options :

1908896657. 1
1908896658. 2
1908896659. 3

1908896660. 4

Question Number : 41 Question Id : 1908891682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An object 1s located 30 em 1n front of a convex spherical mirror of radius 40 cm. Where 1s the
mage formed

—

30 ecm

60 em
60 cm

3. 12em
4. -12em

|

Options :

1908896661. 1
1908896662. 2
1908896663. 3

1908896664. 4

Question Number : 41 Question Id : 1908891682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬂéﬁ?mﬁﬂmmmﬁﬂﬂmcmﬁéﬁﬂmmcmﬂﬁﬁq
gl o gfdfara &gl s g 2

30 cm

60 cm
—60 cm
12 cm
—-12cm

el P

Options :



1908896661. 1
1908896662. 2
1908896663. 3

1908896664. 4

Question Number : 42 Question Id : 1908891683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A small luminous body. at the bottom of a pool of liquid of refractive index = +/3 , 2 m deep,
emufs light in all direction. What 15 the radius of circular area of light formed at the surface?

l. I1m
12m

bt

3. 42 m

4. \,-"gm
Options :
1908896665. 1
1908896666. 2
1908896667. 3

1908896668. 4

Question Number : 42 Question Id : 1908891683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frdll o & T A F$ oY a3 e Wit @ (3 L2 WU
R ud T eyt F vEer F 3o g € A 8 W I TER F
gelietuT 81T & Hodr 1 § 7

lm
12m

2
V2 m

= L] | S ]

J3m
Options :
1908896665. 1
1908896666. 2
1908896667. 3
1908896668. 4

Question Number : 43 Question Id : 1908891684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A near sighted person cannot see distinetly objects beyond 80 ¢m from the eye. what is the
power in diopters of the spectacle lenses which will enable him to see distant objects clearly?

1. -2
2. -15
3. -1.25
4. -1
Options :

1908896669. 1

1908896670. 2



1908896671. 3
1908896672. 4

Question Number : 43 Question Id : 1908891684 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F15 fome e 9 aren a0 em ¥ ¥F T Fr A A TE - T AF T
THAT | TEF TF F JUGAA oF & Fhaa T g Age fAwd fF 3w o A
9= F1 1% - IF T TF -

1. -2
2. -15
3. -1.25
4. -1
Options :

1908896669. 1
1908896670. 2
1908896671. 3

1908896672. 4

Question Number : 44 Question Id : 1908891685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that light coming from distant stars have wavelength = 600 nm. What 1s the linut of
resolution of a telescope whose objective has a diameter of 300 ¢m?

1.22x 107 rad
244 x 107 rad
3x107 1‘:1;1

0.33x 10" rad

B o N e R

Options :
1908896673. 1
1908896674. 2

1908896675. 3



1908896676. 4

Question Number : 44 Question Id : 1908891685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A STAT F TR A F A TE F AEEE = 600 imE A 3F A
(TP ) FT TS F2 e FEE HfETs #1 aAw 300 emE ?

122x 107 rad
244x10" rad
3x107 1ad

0.33x 107 rad

| T

 w

Options:

1908896673. 1
1908896674. 2
1908896675. 3
1908896676. 4

Question Number : 45 Question Id : 1908891686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pair of stars has angular separation of 1'(one munute of arc) from earth. Its viewed with a
telescope whose objective has focal length of 100 cm and eyepiece a focal length of 1 em. The
stars will appear with angular separation of

1.67°
1.87°
1.99°
241°

b

S

Options:

1908896677. 1
1908896678. 2
1908896679. 3
1908896680. 4



Question Number : 45 Question Id : 1908891686 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frdl T 7| & 131 F1 0% Be) 7O & Foly g 8 3 3w
eforeHIa ¥ 8T 1 € Forme Af3eas #1 B g7 100 cm AR AT 1 Bt
gl Lem g1 U oM & AN 5w Foiw quewtor 7 feme &

1.67°
1.87°
1.99°
241°

S R S

B L

Options:
1908896677. 1
1908896678.

1908896679.

A W N

1908896680.

Question Number : 46 Question Id : 1908891687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The work function of sodium 1s 2.3 V. What 1s the longest wavelength light thet can cause
0 i ; i S
photoelectron emission from sodium? (h=6.63x 107" Js)

600 nm
540 nm
500 nm
460 nm

= faa B —

Options :

1908896681. 1
1908896682. 2
1908896683. 3
1908896684. 4



Question Number : 46 Question Id : 1908891687 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TIETH FT FT ol 2.3 eV E| THIIT FT FAT0F JEEET F7 26 586 Fro
BITETR ¥ Bier golecie FT 308 & Hhal £ 2

(h=6.63x10%75)

600 nm
540 nm
500 nm
460 nm

B e

Options :

1908896681. 1
1908896682. 2
1908896683. 3

1908896684. 4

Question Number : 47 Question Id : 1908891688 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the de Broglie wavelength of an electron that has been accelerated through a potential
difference of 0.9 kV?

4x ]O'“ m
ix 10'1] m
45100 m
4x10°m

b =

[ ]

Options:

1908896685. 1
1908896686. 2
1908896687. 3
1908896688. 4

Question Number : 47 Question Id : 1908891688 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 0 geaeta RN 0.0 kv E fva e & @ wafid B o ¥ 3w & e
T F 80

) 4);10'“ m
C3x10Mm
. i 10'10111
C4x10°m

st —

i N

Options:

1908896685. 1
1908896686. 2
1908896687. 3

1908896688. 4

Question Number : 48 Question Id : 1908891689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the energy of the photon that is emitted when the electron in hydrogen atom falls from
n =3 state to the n =2 state?

2.36eV
2.5eV
1.1eV
0.6eV

[

ol

Options :

1908896689. 1
1908896690. 2
1908896691. 3

1908896692. 4

Question Number : 48 Question Id : 1908891689 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9 (FET TSI WA 7 ol 0= 5 39ET Fo=2 ¥FEA H IRar £
Seafed B $1 Fo FwE 0

2.36eV
256V
1.1eV
0.6V

|

N

Options:

1908896689. 1
1908896690. 2
1908896691. 3
1908896692. 4

Question Number : 49 Question Id : 1908891690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . i, R .
The radioactive sample has 2.5 x 10” atoms. Its half life is 5 x 10's. How many atoms decay in

1s?

355108
3.5% 10"
35x10°
3.0x 10"

[ N N I

Options:

1908896693. 1
1908896694. 2
1908896695. 3
1908896696. 4

Question Number : 49 Question Id : 1908891690 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fordlr Yt gfaes 72,55 10" A #| T 7S ST F 5x105F) A 1s
# e A 7 HTET Fr g 0

3.5 10"
3.5x 10"
3.5x10°
3.0x 10"

[

e

Options :

1908896693. 1
1908896694 2
1908896695. 3

1908896696. 4

Question Number : 50 Question Id : 1908891691 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The dopant that can be used to produce semiconductor 1s

Phosphorous
Aluminium
Boron
Indium

LR S ]

i

Options :

1908896697. 1
1908896698. 2
1908896699. 3

1908896700. 4

Question Number : 50 Question Id : 1908891691 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ATCF T ToTHFT TANT HE - AT+ 3c9d Fld & [olC fohIT FET &

%

4. EEgH
Options :
1908896697. 1
1908896698. 2
1908896699. 3

1908896700. 4

Part B Chemistry

SectionId: 19088946
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088972
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891692 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match polymer with their uses

List I List IT

-l)ﬂl}'l.l’lEI‘ Uses

[A. PVC I. Manufacture of fibres

\B. Bakelite II. Manufacture of water pipes

C. Urea-formaldehyde resin 1. Making electrical switches
D. Nylon-6 IV. Making unbreakable cups

Choose the correct options given below:

1. A-IIILB-IILC-LD-1IV
2. A-IILB-OI.C-IV.D-1I

L)

A-ILB-NL.C-LD-IV
4, A-IV.B-III.C-II.D-1I
Options :

1908896701. 1
1908896702. 2
1908896703. 3

1908896704. 4

Question Number : 51 Question Id : 1908891692 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



qgm*ﬁ:d*mﬁﬂgﬂﬁﬁﬁﬁm:

T -1 T -1

g s

A.PVC 1Yot & fosor &F

B. ¥¥aTsT 96T & =9t & A &

c. g - wfesgres Wom 1L fagge =t & faeor &
D. A=A - 6 .IR-’.HQE?I'm?rq"?qT*%ﬁUTH

A fer o wEr fawew I

A-TMI.B-II.C-L.D-1IV
A-IILB-NIL.C-IV.D-1I
A-II.B-NML.C-LD-IV
A-IV.B-III.C-II.D-I

b

B

Options:

1908896701. 1
1908896702. 2
1908896703. 3
1908896704. 4

Question Number : 52 Question Id : 1908891693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following artificial sugar has lowest sweetness value?

Saccharin
Aspartame
Alitame
Sucrose

bl et

B w

Options :
1908896705. 1
1908896706. 2

1908896707. 3



1908896708. 4

Question Number : 52 Question Id : 1908891693 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFraoad FHEE I § Fue Jgd 719 73797 § 2

1. i
2. UFAEH
3. ufereH
4. G
Options :

1908896705. 1
1908896706. 2
1908896707. 3

1908896708. 4

Question Number : 53 Question Id : 1908891694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Heating benzaldehyde with concentrated potassium hydroxide leads to the formation of:

Benzyl alcohol and benzoic acid
Benzyl aleohol and sodium benzoate
Benzalacetophenone and benzoic acid
Benzalacetophenone only

T e N o

Options :

19088967009. 1
1908896710. 2
1908896711.3

1908896712. 4



Question Number : 53 Question Id : 1908891694 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IeoafEErsE F Tig Mefw e F Y T S ¥ Aw 31 A g

. Ao ToPiEd AT draAsSH e
. Afeste vl 3R WfsTR dve
3. deTeUTiel el 3T deASF Fd
4, FI IeAACIHI AT

Options :

—_

-

1908896709. 1
1908896710. 2
1908896711. 3
1908896712. 4

Question Number : 54 Question Id : 1908891695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The compound which is most reactive towards nucleophilic addition reaction is:

Vs

et

O
2 \ / (IZ;—CHg
0
A
\ 7 ﬁ?@
0]
4. HsC-C-H

Options :

1908896713. 1



1908896714. 2
1908896715. 3

1908896716. 4

Question Number : 54 Question Id : 1908891695 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

niF A & AfEFE TFea FafEa F v geg 3f0F fFanfie § 0

L\ {l'j_H

L [ ]
=13 O:C?
@ '

o

Options:

1908896713. 1
1908896714. 2
1908896715. 3
1908896716. 4

Question Number : 55 Question Id : 1908891696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The following conversion can be carried out in the presence of:

@(:HZCN - @CH »CHO

CH;COC1 + AlCl;

H, + Pd-BaS0y

SnCl + HC1 followed by hydrolysis
Cr0,Cl followed by hydrolysis

L b e

.

Options :

1908896717. 1
1908896718. 2
1908896719. 3

1908896720. 4

Question Number : 55 Question Id : 1908891696 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T s refr e s S sr waT £ 0

@CH LCN " @—cm 2CHO

CH;COCI1 + AICI;
H>; + Pd-BaSQy

SnCl, + HC1 38R 9d1¢ Jol H9ECA

[P

CrO-Clh 3T T ol H9ueA

e

Options:

1908896717. 1
1908896718. 2
1908896719. 3
1908896720. 4



Question Number : 56 Question Id : 1908891697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds react with potassium permanganate to give corresponding
alcohol?

Propane
2-Methylpropane
Ethane
Cyclohexane

e

e Laa

Options:

1908896721. 1
1908896722. 2
1908896723. 3
1908896724. 4

Question Number : 56 Question Id : 1908891697 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafof@ st & @ Fig ar 3t wifme Wi @ 3BfF = T
Ui &l ¢ °

1. 99

Options :

1908896721. 1
1908896722. 2
1908896723. 3
1908896724. 4

Question Number : 57 Question Id : 1908891698 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dihedral angle between the hydroxyl groups of the most stable conformation in ethylene
glyeol 1s:

UCI
60°
120°
180°

e Lad bl

Options :

1908896725. 1
1908896726. 2
1908896727.3
1908896728. 4

Question Number : 57 Question Id : 1908891698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR TSIl F Ha9 TS HRA0T A FEIFAA FHE & a1 F Zlaas H07 ¢

OO
60°
120°
180°

[ e

Options :

1908896725. 1
1908896726. 2
1908896727. 3

1908896728. 4

Question Number : 58 Question Id : 1908891699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Distillation can be used for;

A. Separation of volatile liquid from non-volatile impurity having sufficient difference i their
boiling point.

B. Separation of volatile liquid from non-volatile impurity having not much difference m their
boiling point.

C. Determine the boiling point of liquid organic compound.

Choose the correct answer from the options given below:

A and B only
A only

3. Aand Conly
4. Band C only

[ R

Options :

1908896729. 1
1908896730. 2
1908896731.3

1908896732. 4

Question Number : 58 Question Id : 1908891699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HTHES FT 99097 a1 1 §FATE

A i gat Fr FErTeie Hfedt ¥ He W § v oas Fuae § v
Er

B, a9efier gat # arowelier Ffed ¥ oW T F v o Fua # @y
HR A &

c.Fifw A § FuEE § Fuio &

A T o fawedt & ¥ 98 3o

l. 30 AHT B
2. 39 A

CFET AR C
4, FTBHT C

-

L%

Options :

1908896729. 1
1908896730. 2
1908896731.3

1908896732. 4

Question Number : 59 Question Id : 1908891700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the state of hybridization of carbon in the given compound:

H (1)
OHC—C—CN
(1) |ai1)
cl

O .
i-5p " 11-5p"; 11i-5p
i S 7

i=5p°: 11-5p°; 111=5]
1-5p % 11-5p°: 111-5P
= R G

1-5P°: 11-Sp°; 111-5p

o o B2 e



Options :

1908896733. 1
1908896734. 2
1908896735. 3
1908896736. 4

Question Number : 59 Question Id : 1908891700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fgr av Tiffs & Fea F T F v " TeeT # gH

[

A .
D 11-5p7: 111=SP
i-sp°: 11-5p°: 11i-Sp
i-sp: fi-sp’: iii-sp
j-sp”: ii-sp; 1ii-sp’

1-5p

| S

Pad i Pl

5w

Options :

1908896733. 1
1908896734. 2
1908896735. 3

1908896736. 4

Question Number : 60 Question Id : 1908891701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The statement which 1s TRUE for RNA 1s:

a-D-Ribose 15 the sugar unit present in RNA
Thymine is present as one of the base in RNA
RNA are of two types. mRNA and tRNA only
RNA can form double helix structures by folding

bd =

e s

Options :

1908896737. 1
1908896738. 2
1908896739. 3

1908896740. 4

Question Number : 60 Question Id : 1908891701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RNAF T ®@r Faa I ¢

1. RNAH ¢-D TUSaIH 93T S5 3978ud g1
RNA H 39T8Id a0 UF &7 ¢l
3. RNA ik @ uss? & 813 8. mRNA 3T (RNA

4. RNA o & ZaRT &f gloed TIEATT JT TohdT &1

(o]

Options:

1908896737. 1
1908896738. 2
1908896739. 3
1908896740. 4

Question Number : 61 Question Id : 1908891702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amylopectin i1s a branched chain polymer of ¢-D-glucose having:

C1-C4 and C1-C2 gylcosidic linkage only
C1-C6 gylcosidic linkage only

C1-C4 and C1-C6 gylcosidic linkage only
C1-C2 and C1-C6 glycosidic linkage only

b bt

B

Options :

1908896741. 1
1908896742. 2
1908896743. 3

1908896744. 4

Question Number : 61 Question Id : 1908891702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TATSANFEd TF o-D- TG F 0% AT @ Tgors ¢ fwd _ 39ed gar
g

1. 3 C1-C4 T C1-C2 TASHEES Y
2. FIF C1-C6 TASHIEES Y

3. $a9 C1-C4 HT C1-C6 TASHIETZET a7
4. FITC1-C2 AT C1-C6 TABHEZE T4

Options :

1908896741. 1
1908896742. 2
1908896743. 3

1908896744. 4

Question Number : 62 Question Id : 1908891703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Bromobenzene reacts with sodium methoxide at room temperature to give anisole.
Reason R: Sodium methoxide is a base.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 15 not correct

A is not correct but R 15 correct

B i R

Options :

1908896745. 1
1908896746. 2
1908896747.3
1908896748. 4

Question Number : 62 Question Id : 1908891703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 31 w4 fTU AT § v F HEEYa (A) 3R I8 FOFRT (R) FET A £

HITFUT (A): TR FE F 99 W 937 gyoes ¥ Afatw 59
TG & £

FT (R) : TITSTHA HAFAES TF & g

YT FUA F A # e e & ¥ v e 3+

[a—

- (A) IR (R)IEN N AT (R). (A) F T =T g
(A) #T (R) 3t TWEr € T (R). (A) FT WEr aEr AL g
. (A)WE & T (R) WET A E

(A) TEr 7 € W (R) T &

Options :

4= [ 5] [



1908896745. 1
1908896746. 2
1908896747. 3

1908896748. 4

Question Number : 63 Question Id : 1908891704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds is least acidic?

CH,OH

d

OH

O

OH

/%OY

\

Options :

1908896749. 1
1908896750. 2
1908896751. 3

1908896752. 4

Question Number : 63 Question Id : 1908891704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

s s o sl gag F7 =3 £ 2

CH,0H
OH
%

OH

Options:

[

1908896749. 1
1908896750. 2
1908896751. 3

1908896752. 4

Question Number : 64 Question Id : 1908891705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following haloalkanes reacts with aqueous KOH most easily?

P e
I
Cl
| Br
5 /ﬁ\)\
I
A /\)\
Options :

1908896753. 1
1908896754. 2
1908896755. 3
1908896756. 4

Question Number : 64 Question Id : 1908891705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FFATTET oUehal § § Fi & §oilosad g KOHF B9 §99 HH& §
HATRAT Fm 2

o~

PN

Options :

[ ]

3
4.

1908896753. 1
1908896754. 2
1908896755. 3

1908896756. 4

Question Number : 65 Question Id : 1908891706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the incorrect reaction:

Cl CN

© KCN
1 -

Cl CN
KCN

.
A e
B

| o]

3.
AgCN
. \K
Options :
1908896757. 1
1908896758. 2

1908896759. 3

1908896760. 4

Question Number : 65 Question Id : 1908891706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T ATHTRAT I

Cl CN
KCN

Cl CN
KCN

¥

Cl N

O

Fad

Options :

1908896757. 1
1908896758. 2
1908896759. 3

1908896760. 4

Question Number : 66 Question Id : 1908891707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the incorrect statement for photochemical smog:

1. It occurs in dry and sunny climate

2. Ttis also known as oxidizing smog

3. Itis mainly consist of unsaturated hydrocarbons and oxides of nitrogen

4. Tt 1s mainly consist of saturated hydrocarbons and sulphur dioxide
Options:

1908896761. 1

1908896762. 2



1908896763. 3

1908896764. 4

Question Number : 66 Question Id : 1908891707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

vy TEEfEE g7 % AT ¥EcT Fu oI

Ferzs

. TE I U9 YR FeTrg A A €

. W JfeEeRE 47 A FEa £

. T THE T ¥ U FESIFEAT 3T AT F AFEES ¥ & 2
. T% YHE ¥ ¥ TId gL Y TERT SEATFEEE ¥ a4 £

[ ]

L]

g

Options :

1908896761. 1
1908896762. 2
1908896763. 3

1908896764. 4

Question Number : 67 Question Id : 1908891708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following compounds:

TN
A. NH

-
A
i

B.

C. NH;
D. CHgCHzNHz

Choose the correct options for the decreasing order basicity of above cmpounds

1. C>D>B>A
2. C>D>A>B
3. A=B>D=C
4. C>B=D=A
Options :

1908896765. 1
1908896766. 2
1908896767. 3

1908896768. 4

Question Number : 67 Question Id : 1908891708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ot it &

A
A, NH
il
5 25
-
C. NHj

D. CH3CH,NH,

3 fqr v AT & T sEar ¥ ued 9 F wer faFeT g+

1. C=D>B>A
2. C>D>A>B
3. A>B>D>C
4. C=B>=D>A
Options :

1908896765. 1
1908896766. 2
1908896767. 3

1908896768. 4

Question Number : 68 Question Id : 1908891709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not exist as mixed oxides?

Co3z0y
Fe3;0Oy
Mn;04
Cra0y

b

Ao

Options:



1908896769. 1
1908896770. 2
1908896771. 3

1908896772. 4

Question Number : 68 Question Id : 1908891709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TaoTeg § ¥ Si9 ¥ AT 398ss +7 3edg Jg1 ¢ 7

1. Coz0y
2. Fe304
3. 1'1{11304
4, ':'I';G_t
Options :

1908896769. 1
1908896770. 2
1908896771. 3

1908896772. 4

Question Number : 69 Question Id : 1908891710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements for electrolytic cell for the extraction of aluminium is
mcorrect?

1. The reaction takes place at cathode
AT (melt) +3¢” > Al ()
2. The reaction takes place at anode
C (s) + O (melt) & CO (g) + 2¢°
3. The reaction takes place at anode
C (s) + 207 (melf) > CO; (g) + 4¢

4. Purified ALOj 1s mixed with NazAlFg or CaF5 to obtain aluminium

=

Options :

1908896773. 1



1908896774. 2
1908896775. 3

1908896776. 4

Question Number : 69 Question Id : 1908891710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

famafefEa & & #ia o1 Fua vefafags & s # dggasmwe & & for
AR E

. FurE Fr FEEFET & AP (melt) +3¢ — Al (5)

. T Fr #AfFR £0(5)+ 0" (melt) — CO (g) +2¢

. T Fr #fAfE § C (5)+ 207 (melt) — €Oy (g) + 4¢

. TAfATHR 9o & F AT 9F ALO; I NusAlFs T CaF, ¥ 3T &3 2

Y L) | -] —

Options :

1908896773. 1
1908896774. 2
1908896775. 3

1908896776. 4

Question Number : 70 Question Id : 1908891711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements related to graphite 1s mcorrect?

Layers are held by van der waal forces

Each layer 1s composed of 11011-9131131' hexagonal rings of carbon atoms
Each carbon atom undergoes sp™ hybridisation

Graphite 15 used as a dry lubricant at high temperature

b

-l

Options :
1908896777. 1
1908896778. 2



1908896779. 3
1908896780. 4

Question Number : 70 Question Id : 1908891711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IFET ¥ AT AT # ¥ S W FUT ¥ET §

1. T ISTETe ol N7 2 Edr 2
I % T Fled WHAUH F FAATT TeHUT Foral § =7 Z |
3. 9edF Fad A sp” §FRT 2T gl

4. UHISS FT IGAE 32 A9 W YF Foiger I A HaT A

| ]

Options :

1908896777. 1
1908896778. 2
1908896779. 3

1908896780. 4

Question Number : 71 Question Id : 1908891712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements.
Statement I: The sulphates of the alkaline carth metals are white solids except BaSOy.
Statement II: Beryllium carbonate is unstable, therefore. it 1s kept in CO; atmosphere.

In light of the above statements. choose the meost appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

| =

ol

Options :



1908896781. 1
1908896782. 2
1908896783. 3

1908896784. 4

Question Number : 71 Question Id : 1908891712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT 2 FUa fer AT §

FUAF - 1:BaSO, FI BISH &THT HeT TG F Fothe The 21T &

FAT - 11 : BeCO; TEATE EAT &, SHTOIT SHSHI CO, G0 #H 1@ 2

3UYFS FUAT F HoF A FEafarad FEed § ¥ TE 3o I ¢

1. Fua 13T 1= "8 &)
FUAF 13T I SAT T &
FUA 182 8. fheg Fu M3 B

4. FIF 17707 §. fveg Fa 1 HE 2

[ ]

Laa

Options :

1908896781. 1
1908896782. 2
1908896783. 3
1908896784. 4

Question Number : 72 Question Id : 1908891713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Ice can hold some molecules of its appropriate mterstitial size.
Reason R: Hydrogen bonding gives ice an open type structure.

In light of the above statements. choose the mest appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 1s not correct but R 15 correct

e s D

Options :

1908896785. 1
1908896786. 2
1908896787. 3

1908896788. 4

Question Number : 72 Question Id : 1908891713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g FUa U 90 § - UF F HEEAS (A) HR gE FOFROT(R) FaT I £
HHFUT () T ¥ AN HFR F FT FA F 53 Tl 2
FOT (R) : FEEAS HEY & FRT T H TF Gl TFAT 9o grelr &
ITFT FUA F A # faeiteg feed 7 ¥ 98 oW W

(A HrT (R = T AT (R). Q) F TEr @ g

(4) 3T (R) 3T WE & g (R). (A) HT T e g £
(A TE § T (R)WET AL

. (A)FE A § g (R) T

Options :

= Ll [ =] [e—

1908896785. 1



1908896786. 2
1908896787. 3

1908896788. 4

Question Number : 73 Question Id : 1908891714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Grven below are two statements

Statement I: Total metals comprise more than seventy eight percent of the known elements in
the modern periodic table.

Statement IT: Total non-metals comprise less than twenty in number in the modern periodic

table.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

| o

NS Y

Options :

19088967809. 1
1908896790. 2
1908896791. 3
1908896792. 4

Question Number : 73 Question Id : 1908891714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A g Fua Gr aw £

FUF - 1: Fdfels W FRON F FoT A dedl # 78% e ¥ 7F eng
MFT &

FUT - 11 A Had FROT & gt 9w H FEw @ o 79 8
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o

. FY 1 AT 13 7 £
FUT [ AT N3 T E
U4 1 HE1 8. e U 11T B
FUF 1970 ¢. heq FUaT THET £
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Options:

1908896789. 1
1908896790. 2
1908896791. 3
1908896792. 4

Question Number : 74 Question Id : 1908891715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange them in order of inereasing energies of the orbitals

Ap=34=73

Dn=4.1=0

Choose the correct answer from the options given below

1. A<B<P=<C
2. A<D=<B=C
3. D<A<B<C
4. D<A<C<B



Options :

1908896793. 1
1908896794. 2
1908896795. 3
1908896796. 4

Question Number : 74 Question Id : 1908891715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e L .
THF FeTHI H FAT F F2d FH H IIEAF F{

D.n=4.1=0

A for or Bear # & 96 3o I

l: A<B B0

2. A<D<B<C

3. D<A<B<C

4: DLA<SE<B
Options :

1908896793. 1
1908896794. 2
1908896795. 3

1908896796. 4

Question Number : 75 Question Id : 1908891716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List II
Column I Column IT
A. Number of radial nodes for the 3p orbitals L0

B. Molecule BF; is of trigonal planar geometry having dipole moment  |II. 9

C. Total number of orbitals associated with 3™ shell II. 2

D. The number of angular nodes for 4d orbitals V.1

Choose the correct answer from the options given below:

A-ILB-NLC-LD-IV
A-TIILB-I1.C-IV.D-II
A-IV.B-LC-I.D-III
A-IV.B-II.C-1LD-III

|

s

Options :

1908896797. 1
1908896798. 2
1908896799. 3

1908896800. 4

Question Number : 75 Question Id : 1908891716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T IR HET I F T gART F

T -1 qT -1
TH-1 TAH-11
A 3p FeTHT H =g At Fr g 10

B. BF; [a¥[d 30l aTel 0T Aqel safafa #1819
C.3" @ & FafIF ol FETH H T 0. 2
D. 4d FeTl H FI0F A=t H qE&47 . 1

A fer ar Bwes & ¥ W 3R g0

A-ILB-ILC-LD-IV
A-IMI.B-1.C-IV.D-II
A-IV.B-LC-II,D-III
A-IV.B-IL.C-ILD-III

e Lo b

Options :

1908896797. 1
1908896798. 2
1908896799. 3

1908896800. 4

Question Number : 76 Question Id : 1908891717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: In group 14, a significant inerease in covalent radius 1s observed from carbon to
silicon and thereafter. a small increase m covalent radius 1s observed from silicon to
germanium,

Statement II: A considerable difference i the values of electronegativity from silicon to lead is
observed.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are ncorrect
Statement [ is correct but Statement I 15 incorrect
Statement I 1s incorrect but Statement I1 15 correct

e el B -

Options:

1908896801. 1
1908896802. 2
1908896803. 3
1908896804. 4

Question Number : 76 Question Id : 1908891717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FuF BT AT E

FUF - 1. T U E.Fod § RFET 76 eaes 3 & eogay 3¢ a8 7
¢ 3R 30F 9. TEEaes e 7 Rfewa § s#faws % oF ol & 3fe e
TS £

FY - 11: feea 3R o2 7 faggd HOmcAsar & ot AT @ T 3
34T FUAT F Aol # feiatad fowedt # ¥ T 3o I

1. FuT 13T nae 7 8
FUT [HR 1= 7o 8|
3. FY 1818, g 9 179 B
4. FUT 17T ¢, g FUF U TG E

| ]

Options :

1908896801. 1
1908896802. 2
1908896803. 3

1908896804. 4

Question Number : 77 Question Id : 1908891718 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A:  Color of KMnOy disappears when oxalic acid 1s added to 1ts solution in acidic
medium.

Reason R: KMnQOy 1s strong oxidising agent,

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A 15 not correct but R 1s correct

b —

S

:Nols



Options :

1908896805. 1
1908896806. 2
1908896807. 3

1908896808. 4

Question Number : 77 Question Id : 1908891718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 3 Fu QU A ¥ OF A AU (A) 3R GE FOFWON(R) FT A g

HHFYT (A): T KMnO, F FFIT ATR § HFHOF ¥Fd 00 £ af KMnO, F
T IS T A 8

FIUT (R) : KMnO, T HFHFSH 2|

IS FUA F FAE F A FEedt # 7 S

[

A) AT (R) I TE § 3T (R), (A) F TR T
A)

(
(4) #T (R) 3T TET € T (R). (A) FT T S A
(
(

-]

Laa

A) W § T (R) WA A 2
A)WEI Rl § Weg (R) FE 2

e

Options :

1908896805. 1
1908896806. 2
1908896807. 3

1908896808. 4

Question Number : 78 Question Id : 1908891719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct -

A. BCl; exists as monomer whereas AlCl; 1s dimerised through halogen bridging.
B. The linear shape of CO; is due to spg hybridisation of the carbon.

C. Graphite 1s slippery and hard therefore used as dry lubricant in machines.

D. Suspension of slaked lime 1n water 1s known as milk of lime.

E. Ionic hydrides are very good conductors of electricity in solid state.

Choose the correct answer from the options given below:

1. AandB only
2. Aand D only
3. AandE only
4. D and C only

Options :

1908896809. 1
1908896810. 2
1908896811. 3

1908896812. 4

Question Number : 78 Question Id : 1908891719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



farafafeT Fuat & @ w9 aFua w1 € 0
A BCL; THersh! §9 & TgaT § T AlCh geliel Bqay ¥ 0% aar ¢

B. CO, # @ HFN sp’ HHUIF FT 21 £

C.IwTEE R AT FOR AT £ SHOT 3§ mAA F o TEF H g A
A £l

D.99 99 F I # FEIHA F AT Tl Fad £l

E. HTOI% FE313S0 3 HITdT # (3=l & H=0 o= 21 2l

A fgT v REedt & ¥ w8 5o 9

1. %ad AHT B
2. #39 ARR D
. HFT AR E
4, FFA DA C

(]

Options :

19088968009. 1
1908896810. 2
1908896811. 3

1908896812. 4

Question Number : 79 Question Id : 1908891720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Hypophosphorous acid 1s a good reducing agent and reduces AgNO; to metallic
silver.

Reason R: Oxoacids of phosphorous contain atleast one P=0 bond and one P-OH bond.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
3. Ais correct but R 1s not correct

4. A s not correct but R 1s correct

|

Options :

1908896813. 1
1908896814. 2
1908896815. 3

1908896816. 4

Question Number : 79 Question Id : 1908891720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g U9 BT 70 € 0 1 AT (A) 3R gE F FROT (R) FET A

HIFFUA (A) : FTEIBIERNE TH HTOT FTIEF ¢ AT ANO; Ft uifeas Feat &
HIAET FT & &

FIOT(R) : FIEPRE F AFWHEA H F7 § FH UF P=0 JFY AR T P-OH H&EY
g 2

ITYF FUA F Helw # fAetRg Few & ¥ 7 3o I

[a—

. (A) T (R) AT T £ 3T (R). (A) FT TE T
- (A) T (R) 3 WET € T (R). (A) FT TET ET A
. (A) T E T (R) T AR B
. (A) W T E g (R)FE B

e LS} | S



Options :

1908896813. 1
1908896814. 2
1908896815. 3
1908896816. 4

Question Number : 80 Question Id : 1908891721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Sulphur dioxide decolorises acidified potassium permanganate solution.
Reason R: Sulphur dioxide (moist) behaves as a reducing agent.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 15 correct

| T

e

Options :

1908896817. 1
1908896818. 2
1908896819. 3

1908896820. 4

Question Number : 80 Question Id : 1908891721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A9 & FUF T AT E : 0F F AT (A) I TE A FWOT (R) FF A 8|

HAFIT (A) : TP TEHFHET FFalg TR THTT Forded F T T &a
gl

FROT(R) : ToHT SEHFEES (FH) T HTATF H 31E TGN F 21

IFT FUA & A & AeRg e # ¥ 5l 5o 3+

[—

| ]

(A) 3T (R) T T £ 3R (R). (A) F T T

(A) 3R (R) 3T T § g (R). (A) FT TEr e 7@ F
(A) T & Teg (R) TET TG

(A) WET T & T (R) WET B

Options :

L)

e

1908896817. 1
1908896818. 2
1908896819. 3

1908896820. 4

Question Number : 81 Question Id : 1908891722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Fluorine exhibits -1, +1. +3. +5 and +7 oxidation states.
Reason R: Halogens except fluorine have d-orbitals thus can expend their octets.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 15 correct

P o

Options :



1908896821. 1
1908896822. 2
1908896823. 3

1908896824. 4

Question Number : 81 Question Id : 1908891722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 FUF U AT E © 0 FAAFYT (4) HR G FT FRT(R) FT A £

FEFUF (A): T -1, +1, +3. +5 HT +7 Fr HFUR0T FTEA @ £

FOT(R) : TN F SIS T §AIT F 9 d-F8F 27 § #3970 s #
AT 7 a2

I4FT FUA F Ao # feAlnd e & ¥ ®E 3o o

[—

A) AR (R) I 7 AT (R). (A) F TE = g

g
- (A)HR (R) S FE E T (R), (A) F Tl A A
R

| ]

e

(A) T § g (R) WG AL £
A) W 7@ E =] (R) TR B

e

Options :

1908896821. 1
1908896822. 2
1908896823. 3

1908896824. 4

Question Number : 82 Question Id : 1908891723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the correct pair from the following —

. [Mn['_C'N]ﬁa] - Inner orbital complex involving I:l sp hybridisation

2. [Mn(Cl)s]* - Outer orbital complex involving d° sp lnbl‘:ld].":u"i'[lﬁll

3. [Co(C0 4}3] " - Inner orbital complex mnvolvi g sp ' g hybridisation

4. [CoFg] - Inner orbital complex involving sp 3 hybridisation
Options:

1908896825. 1
1908896826. 2
1908896827. 3
1908896828. 4

Question Number : 82 Question Id : 1908891723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa=fof@a # ¥ §er AT $1 9g=a F:

1. [Mn(CN)s]" - Haf® FeT% TFa TUTd’sp’ HHIOT

2. [Mn(Cl)]* - 8T F&TF HFHoT TUTd'sp’ HHIOT

3. [Co(Cr04)3] - HTANF F&TH Hpel T sp’d” HHIOT

4. [CoFe]" - ATANT F&TF HFHA IUT sp’d’ HFHIOT
Options :

1908896825. 1
1908896826. 2
1908896827. 3

1908896828. 4

Question Number : 83 Question Id : 1908891724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT

List I List IT
A. Lanthanide which shows +4 oxidation state I Yb
B. Lanthanide which has 4 electronic configuration mn +3 oxidation state |II. Ce
C. Lanthanide which shows +2 oxidation state III. Nd

D. Maximum paramagnetism V. Lu

Choose the correct answer from the options given below:

A-ILB-IV.C-LD-III
A-MLB-IV,C-ILD-I
A-IV.B-LC-ILD-III
A-ILB-IV.C-ILD-I

| =

o

Options :

1908896829. 1
1908896830. 2
1908896831. 3
1908896832. 4

Question Number : 83 Question Id : 1908891724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Q-1 T G- F T1T AT FLo-
| -1 - |

L9

11
A. UATES +4 HTFUHI0T HTEAT T E@rar g I Yb

B. AUATET TG +3 TFAIOT rTE I 4 SereTaw

e ¥ 1L Ce
C. UATEE J7 +2 FERT FIE fEErEr g M. Nd
D. 33T FqEEFT IV.Lu

A T 71T RFwest & ¥ @Er 3ew giav

A-II.B-IV.C-1.D-1III
A-IIILB-IV.C-II.D-1
A-IV.B-LC-II.D-1II
A-IILB-IV.C-III.D -1

b

e

Options :

1908896829. 1
1908896830. 2
1908896831. 3
1908896832. 4

Question Number : 84 Question Id : 1908891725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements related to group 18 is incorrect?

XeF4and XeFs are colorless crystalline solids
No true compounds of Ar, Ne or He are known
They have more positive electron gain enthalpy
XeO3 15 a colored explosive solid

Fu L bd

Options :
1908896833. 1

1908896834. 2



1908896835. 3
1908896836. 4

Question Number : 84 Question Id : 1908891725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

97 18 ¥ Hafug Feafai@a # ¥ Fi9 97 Fa49 79 22

1. XeFs 3T XeFs TTE hEcald 39 §

2. Ar.Ne 3T He F 15 areafa+ IifEs AT 787 £
3. TAHT STAFC Ay T=edl 3caia+ UacHF g
4. XeO;UF A ATwes 39 gl

Options :

1908896833. 1
1908896834. 2
1908896835. 3

1908896836. 4

Question Number : 85 Question Id : 1908891726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The entropy change 1s -600 J K 'mol™ at 300K for the given reaction.
4 Fe (s) + 302 (g) — 2Fe20s5 (s)

Total entropy change of the reaction is ...... SORUDRR,

(Given: AJH™ for the reaction 15 -1800 x 107 J 11101'1}

1. 54 kI mol™
2. 54 kT K 'mol™
3. 5.4k mol™
4. 54kT K mol™
Options :
1908896837. 1

1908896838. 2



1908896839. 3
1908896840. 4

Question Number : 85 Question Id : 1908891726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& a1 FEATRAT F T 300 K J19 9T Tt 9iEdad - 600 T K 'mol ' §

4Fe (s) + 302 (g) — 2Fe20; (s)

(fem amm & - 3R F BT AH® -1800 x 10° Tmol ' §1)

1. 54 kJ mol™

2. 54kIK 'mol™

3. 5.4k mol®

4. 54K K mol™
Options :
1908896837. 1
1908896838. 2
1908896839. 3

1908896840. 4

Question Number : 86 Question Id : 1908891727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The charge on 1 mole of electrons 1s

1.6 x 107 C mol™
6.02 < 102 C mol™
96500 C mol™
9650 C mol™

b

B W

Options :

1908896841. 1



1908896842. 2
1908896843. 3

1908896844. 4

Question Number : 86 Question Id : 1908891727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U Aol Soldeld 9¢ HTa9l gaT &

1.6 x 1{}_19‘ C mol™
6.02 x 102 C mol™
96500 C mol™
9650 C mol™

| ]

el

Options :

1908896841. 1
1908896842. 2
1908896843. 3

1908896844. 4

Question Number : 87 Question Id : 1908891728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The standard electrode potential and standard Gibb’s energy value are, 1.1 V and
~212.27 kImol™ respectively. The correct reaction is

X(5)+Y (ag) — X (aq)+ Y (5)

X(5)+ Y (aq) = X (aq) + Y ()
X()+Y " (ag) > X (aq) + Y ()
X(s)+ i (aq) — X“i_aqj +Y (s)

bt —

e T

Options:

1908896845. 1
1908896846. 2
1908896847. 3

1908896848. 4



Question Number : 87 Question Id : 1908891728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

it AT seers e 3t fed 7o F A FR 1.1V 3T 221227 kKImol & AT
T HfAfEaT & 0

. X(5)+Y (aQ) =X (aq) +Y (5)

2. X[:s)!—‘f' (aq) — ‘(‘ (aq}+&(}
3. X[_s)i—Y' (aq) — ‘( (ach+‘.: (s)
4, X(s)+ T (ag) — axt [aq)“f (s)

Options:

1908896845. 1
1908896846. 2
1908896847. 3

1908896848. 4

Question Number : 88 Question Id : 1908891729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the correct order for the flocculation power of negative and positive
sols, respectively?

[Fe(CN)s]" > POs >S04™ - Cl and ql Ba'™>Na"
Ali‘::»Baf‘w*and [Fe(CN)s]* > OS> }504 )
[Fe(CN)s ] < PD4 <804 < Cl and ﬂd <Na'
A< Ba¥ < Na” and [Fe(CN)s]* < PO,* < 504 e

B e

Options :

1908896849. 1
1908896850. 2
1908896851. 3

1908896852. 4

Question Number : 88 Question Id : 1908891729 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fof@a 7 ¢ Fi9 T FAT: FUTAS AT UAHF T T S0 SR F T@
A

[Fe(C\ﬂf,] "> POy >$047 Cl and L‘&l Ba’"> Na'
AP>Ba’> Na' ancl LFc((\ ] 3 PO4 >SO4" =l

I-.'l—-

3 [Fgu:‘\l ] < PO4 4* < CI" and A" < Ba® {m
4. AP*<Ba*<Na"and [Fe(CN)s]" <PO 4> <Cr
Options :

1908896849. 1
1908896850. 2
1908896851. 3

1908896852. 4

Question Number : 89 Question Id : 1908891730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s the options is correct for the kinetic molecular theory of gases?

Particles of a gas are always in constant and random motion

Collision of gas molecules are inelastic

There 15 a force of attraction between the particle of a gas at ordinary temperature and
pressure

4. Particles of a gas move i only one direction

L O R

Options :

1908896853. 1
1908896854. 2
1908896855. 3

1908896856. 4

Question Number : 89 Question Id : 1908891730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



et &7 avpEfas e F BT Fia a1 TFeT w@ &

1. ¥ F FT WMAR AiaF FTEA F T 8

. F UL F AT HUF HAYAEY T 2

3. WIAWE A9 U9 31§ W 3F - FOT F AT AFV0T T 24T 2
4. {G F FUT FIA TF & T F THA FF £

| ]

Options :

1908896853. 1
1908896854. 2
1908896855. 3

1908896856. 4

Question Number : 90 Question Id : 1908891731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s the type of non-stoichiometric defects?

Frenkel defect
Vacancy defect
Schottky defect
Metal excess defect

b

B W

Options :

1908896857. 1
1908896858. 2
1908896859. 3
1908896860. 4

Question Number : 90 Question Id : 1908891731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FrAT@T § ¥ Fi9 AALCSRATART ¥ FT IH1 & 7

1. et oI
IS 2T
uTq AT g

Bow

Options :

1908896857. 1
1908896858. 2
1908896859. 3

1908896860. 4

Question Number : 91 Question Id : 1908891732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Acidic character of BF; 1s based on

Arrhenius Concept

Bronsted Lowry Concept
Lewis Concept

Lewis and Arrhenius Coneept

| ]

= L

Options :

1908896861. 1
1908896862. 2
1908896863. 3
1908896864. 4

Question Number : 91 Question Id : 1908891732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BF; $I HFalT 9Hfa _ 97 4T §

Options :

1908896861. 1
1908896862. 2
1908896863. 3

1908896864. 4

Question Number : 92 Question Id : 1908891733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

——
For the given reaction, NaOyg (g) ™ 2NOs (g). the total pressure of the reaction at
equilibrium 1s 10.2 bar and initial pressure 1s 5.5 bar. The value of Kp 15

1104
80.4
3. 104
4. 1301

|

Options :

1908896865. 1
1908896866. 2
1908896867. 3

1908896868. 4

Question Number : 92 Question Id : 1908891733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&t M2 AAFITIN,04 () ~— 2NO, (g) H. FFIEE T F &4 10.2 bar A
IRISF S 5.5bargl Kp T AT E

1. 1104
2. 804
3. 104
4. 130.1
Options :

1908896865. 1
1908896866. 2
1908896867. 3
1908896868. 4

Question Number : 93 Question Id : 1908891734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: The people living at high altitudes or climbers have high concentration of oxygen
in the blood and tissues.

Reason R: At high altitudes, the partial pressure of oxygen 1s less than that of the ground level.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A 15 not correct but R 1s correct

N

Options :

1908896869. 1
1908896870. 2
1908896871. 3

1908896872. 4



Question Number : 93 Question Id : 1908891734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2T FUF T AT E v F AEFAF (A) 3T ZE FOFRT (R) FET T B

HIFUA (A): FOF FEE TN FE WIES I A U9 HWEH F I 09
FaH H HFHIAS HT WEgaT e Ear 2

FNUT(R) : HOF FIS o0 RN TGS F7 i3 39 T T & F7
g 2|

ITFS FAA F HAF F AFART aFed F F T IeR) I

Pt

A) AT (R) T T E AT (R). (A) FT TG =
A) 3R (R) S W § WA (R). (A) FT & T A R
A)WE § T=] (R) WET e £l
(A) T8 Et € g (R) T £

Options:

| ]

(
(
(

L]

.

1908896869. 1
1908896870. 2
1908896871. 3
1908896872. 4

Question Number : 94 Question Id : 1908891735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-ray studies show that an element ‘A’ crystallizes in a bee unit with cell edge of 3.0 x 10 cm.
In a separate experiment, element ‘A’ 1s determined to have a density of 4 g/em’. The atomic
mass of element ‘A’ 15

324u
324u
16.2u
324u

bt —

e Cad



Options :

1908896873. 1
1908896874. 2
1908896875. 3
1908896876. 4

Question Number : 94 Question Id : 1908891735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFY - 70T Hegga Zanr 91 7o & Feeg A1 3.0 x 107 e FIfCEH X ol &
W bee Uheh FICEH F & A fFreelid gd1 €1 0F qaY F T # decd 'A'H
Uded 4 glem’ 7T AT AT ‘A’ F TAIVSF FAA/H __ E|

324u
3.24u
16.2u
324u

e el b -

Options:

1908896873. 1
1908896874. 2
1908896875. 3

1908896876. 4

Question Number : 95 Question Id : 1908891736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the correct graph for Boyle’s Law

Y
A 2
_?J.
=
Volume (dm®
E_ .,
B e \
5 ~\\\
Volume {dm®)
o IL'-,
=
C. 5
g T
= .
s
Volume (dm?)
frf—_
— .-/fr-_
.ﬁ_a
D. £
#
i
!
volume (dm?)

Choose the correct answer from the options given below:

1. Conly
2. Cand D only
3. Aonly

o

B and C only

Options :

1908896877. 1
1908896878. 2
1908896879. 3
1908896880. 4



Question Number : 95 Question Id : 1908891736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T F HIHE F U g9Er A6 FT 99T FIL

A3
Voluma {dm™)
S
B. £
2%
£
Valume (dm)
b
5\
Co8
volume (dm?)
/ﬂ
£ ,//
D. 5|

Volume (dm?)
Arer R atT et # o " 3o} I+
1. =S C
FIA CHT D
3. FaA A
4. g BHT C

|

Options :
1908896877. 1

1908896878. 2



1908896879. 3
1908896880. 4

Question Number : 96 Question Id : 1908891737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match Reactions with their Unit

Reaction Unit
A. Zero order L mol’L ™
B. First order IT. mol L5

C. Second order Il s

Choose the correct answer from the options given below:

A-ILB-TI.C-1I
A-ILB-II.C-1III
A-II.B-NII.C-I
A-II.B-1.C-1III

| ]

et

Options :

1908896881. 1
1908896882. 2
1908896883. 3

1908896884. 4

Question Number : 96 Question Id : 1908891737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AR F7 37T FHIE F T Fema Fio

CIENE) HTE
A FT FIE I mol 'L
B. JUH FIfC I1. mol L5
C. gfadmT Fife Il s
A feT av RsFedt # & WEr Seaw IAT
1. A-ILB-II,C-TI
3 AT Bl C-TI
B AN EHE
4, A-IL,B-1,C-II
Options :

1908896881. 1
1908896882. 2
1908896883. 3
1908896884. 4

Question Number : 97 Question Id : 1908891738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match Crystal system with Axial angles

Crystal system Axial angles

A. Cubic 1. a=p=90", y=120"
B. Trigonal II. a=p=y=90"

C. Hexagonal II1. P90’
D. Triclinic IV. a=p=y290"

Choose the correct answer from the options given below:

A-II.B-IV.C-III.D-1
A-IV.B-II.C-L.D-1III
A-IILB-IV.C-1.D-III
A-III.B-IV.C-1.D-1I

L

o

Options :



1908896885. 1
1908896886. 2
1908896887. 3

1908896888. 4

Question Number : 97 Question Id : 1908891738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fefrar FUT F FT e Jumer FT HA FY

e a Fefi Hior

A AT I a=p=90°, y=120"
B. F=rroft II. a=p=y=00"

C. FTHIoiT I apy290°

D. Feanst IV. a=p=y290"
A for 9T SFet # ¥ §E 3o T

A-ILB-IV.C-III.D-1I
A-IV.B-II.C-1L D-III
A-IILB-IV.C-LD-III
A-III.B-IV.C-1.D-1II

b

gl

Options:

1908896885. 1
1908896886. 2
1908896887. 3

1908896888. 4

Question Number : 98 Question Id : 1908891739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II

A AH=q 1 Pex=0

B. Free expansion  |II. Heat

C.Path function  [TIL. At constant pressure

D. Reversible IV. Infinitely slow process which proceeds through a series of equilibrium
process states

Choose the correct answer from the options given below:

A-ILB-ILC-IL.D-IV
A-LB-ILC-ILD-IV
3. A-IILB-LC-IV,D-II
4. A-NILB-LC-IL.D-IV

b —

Options :

1908896889. 1
1908896890. 2
1908896891. 3

1908896892. 4

Question Number : 98 Question Id : 1908891739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



= IR -0 gRfea ST

gt -1 gl -1

A.AH=gq I. Pext=0

'B.sj-ﬁ?r JEIOT 1L FSAT

C. 92 Folel 1L 7521 g

D. 3cFHUTT IV. ¥ e IHA 3 F F2 weaeearst §
EET TR &

A BT 71T Bt & ® ®r 3o} g

A-ILB-III.C-II.D-1IV
A-ILB-IILC-III.D-IV
A-MM.B-1.C-IV.D-1I
A-MB-I,C-I,D-IV

b

.l o

Options:

1908896889. 1
1908896890. 2
1908896891. 3

1908896892. 4

Question Number : 99 Question Id : 1908891740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match Terms with Symbols

Term Symbol
A. Resistance Ix

B. Specific resistance II. R

C. Conductance III. p
D. Specific conductance [IV. G

Choose the correct answer from the options given below:

A-II.B-NI.C-IV,D-1
A-LB-IV.C-II.D-1II
A-II.LB-LC-IV.D-1III
A-ILB-LC-IIILD-IV

b

<l

Options :

1908896893. 1
1908896894. 2
1908896895. 3

1908896896. 4

Question Number : 99 Question Id : 1908891740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



JaTRT & HTT eal FT Helld F7

ASE qdls
A. Sferer I x
B. faforse gfam LR
C. e L. p
D. fafaree =mersea IV. G

A T 7w RBeedt # ¥ ®r 3o AT

A-ILB-NLC-IV.D-I
A-ILB-IV,C-II.D-1III
A-ILB-ILC-IV.D-III
A-II.B-LC-IIILD-1IV

bl

£

Options :

1908896893. 1
1908896894. 2
1908896895. 3

1908896896. 4

Question Number : 100 Question Id : 1908891741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The unit of coefficient of viscosity in CGS and SI units. are respectively

poise and Pa.s™
poise and Pa.s
centipoise and Pa.s
centipoise and Pa.s’

b

=

Options :

1908896897. 1
1908896898. 2
1908896899. 3
1908896900. 4



Question Number : 100 Question Id : 1908891741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QAT I[UTF HTTHES CGS AN SITET & FHM: &

1. tﬁEG? 3T Pas?

2 tﬁ%ﬁ? AT Pas

: $Fﬁtﬁ§ET3ﬂT Pa.s
4. ?ﬂﬁqua'iﬂT Pa.s™

Options :

Eaa

1908896897. 1
1908896898. 2
1908896899. 3
1908896900. 4

Part C Mathematics

SectionId: 19088947
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088973

Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 1908891742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let n(U) = 700,n(4) = 200, n(B) = 300 and n(4Nn B) = 100 then n(A' N B')is

400
600
300
200

ko

T s

Options :

1908896901. 1
1908896902. 2
1908896903. 3

1908896904. 4

Question Number : 101 Question Id : 1908891742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Ehﬁ'[:r ﬁ; H[U) — 700, H(A) = 200, ”{B) o 300W I'l[f:'!‘; N B]= ].U"D%I
g M(4'N B’]% :

400
600
300
200

Je Tl bl

Options:
1908896901. 1
1908896902.

1908896903.

A W N

1908896904.

Question Number : 102 Question Id : 1908891743 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

B0 — 107"
The inverse of the function f (x)= : - 15
10 4+ 1077

L4-x
L. logy (l — x)

lf_ (1 - 1')
2 5 0810 "
3. 10g,0(1+ X)

1+x)
1 =%

4. —log,o (

Options :

1908896905. 1
1908896906. 2
1908896907. 3

1908896908. 4

Question Number : 102 Question Id : 1908891743 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10* —107*
116l o [ 1

i o
L logso (1 - 1')

1!r (1 + I)
—1i0

5 J10 55
3. log,o(1—x)

i, R
4. —logyo (1 — t‘)

Fold f(x) = FT gidad g

[

Options :
1908896905. 1

1908896906. 2



1908896907. 3
1908896908. 4

Question Number : 103 Question Id : 1908891744 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let R be the relation on the set R of all real numbers defined by aRb if |f! = bl < 1.ThenRis

Reflexive and Symmetric
Symmetric only

Transitive only

Symmetric and Transitive only

e Lo D

Options:

19088969009. 1
1908896910. 2
1908896911. 3
1908896912. 4

Question Number : 103 Question Id : 1908891744 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ohfarT f R areafds deamsil & @oead W a R b EaRT IR Hav g,
s la-bl<1% Fmr:

[—

. Taqed 3R wAAd
. Fad AT

. Fad TFHS
. AR AR TFEE Fad

[ ]

S Y

Options :
1908896909. 1
1908896910. 2

1908896911. 3



1908896912. 4

Question Number : 104 Question Id : 1908891745 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of solutions of the equation 165°% 4 1605°% = 10in x € [0,21] 1s
equal to

e L d
— 00 Oh

0
Options :
1908896913. 1
1908896914. 2
1908896915. 3

1908896916. 4

Question Number : 104 Question Id : 1908891745 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X E [DZIT] HWUT 165!1::1‘ K 166953.1‘ =10 a‘? EﬂT ﬁ' iﬁm W?\' :

[
i = AT =)

TS

Options :

1908896913. 1
1908896914. 2
1908896915. 3

1908896916. 4



Question Number : 105 Question Id : 1908891746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vi+Cosx+y1-Cosx x
If = Cot (ﬁ ¥ 7 E) and ¥ € (H. 2;1-) then 4 1s equal to

Vi+Cosx—y1-Cosx

n
1. —
4
n
Wt T
6
L
8
m
Ay =
2
Options :

1908896917. 1
1908896918.

1908896919.

A W N

1908896920.

Question Number : 105 Question Id : 1908891746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vi+Cosx+V1-Cosx

ﬂia Vi+Cosx—y1-Cosx

= Cor(}l+§)% g X € (.21 & gr g &

| ]

B W | SOy | S| S

Options :

1908896917. 1



1908896918. 2
1908896919. 3

1908896920. 4

Question Number : 106 Question Id : 1908891747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-1 '\-E

The value of Sin [2 Cos = is
/5

3

25

3
4 \-"'g

> —

9
2 \-"'g

9

Il‘q

Options :

1908896921. 1
1908896922. 2
1908896923. 3

1908896924. 4

Question Number : 106 Question Id : 1908891747 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[ ]

LS

4, ——
9
Options:
1908896921. 1
1908896922. 2
1908896923. 3

1908896924. 4

Question Number : 107 Question Id : 1908891748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Cos « Sin «

) = 3
Ef( ) —Sin«  Cos &) andif % B Y are angles of a triangle, then
F(2).FB)-F V) equats
1. I
2.
3: 0

g Sin x Cos .1,

Options :

1908896925. 1
1908896926. 2
1908896927. 3

1908896928. 4



Question Number : 107 Question Id : 1908891748 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(o) = Cosx Sin oc]
afy - l-Sinx  Cos « %maﬁ“-ﬁ-}’wﬁaﬁéﬁﬂw%
a’rf(“)-f(ﬁ]f(ﬂw%;

I

_]2

0

Sin « Cos .1,

A

Options :

1908896925. 1
1908896926. 2
1908896927. 3

1908896928. 4

Question Number : 108 Question Id : 1908891749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the system of linear equations
x+2ay+az=0,x+3by+bz=0and x + 4cy + cz

solution, then

= has a non-zero

| 2b=a+c

b? = ac

a+2b+2c=0
2ac

4 a+c

2.

Options :

1908896929. 1
1908896930. 2
1908896931. 3



1908896932. 4

Question Number : 108 Question Id : 1908891749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ife o+ g x+2ay+az=0x+3by+bz=0 3k tH4cy+c2=0 & Sy
F UF LN g ¢l

[e—

2b=ﬂ+f%'|

| ]

b? = ac )

L}

ﬂ+2b+2c=0§|

2ac

4 7 atcd

Options:

1908896929. 1
1908896930. 2
1908896931. 3
1908896932. 4

Question Number : 109 Question Id : 1908891750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r—= 1 =1
x2-1:x>1

f(x)= { :
Given _thenat X = 1 ! f 18
Continuous and differentiable

Continuous and not differentiable

Dhfferentiable but not continuous

Neither continuous nor differentiable

| ]

o

Options :
1908896933. 1

1908896934. 2



1908896935. 3
1908896936. 4

Question Number : 109 Question Id : 1908891750 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x=dr ¥

’F(I}z{-‘fz—li x>l ae X = 1w/ ¢

1. "ad 3R AaFa=rg

2. Wed, W HaFAAT FTE

3. HaFAT, T T Bl

4. & @ a9 3R a7 & FaFasrg

Options :

1908896933. 1
1908896934. 2
1908896935. 3

1908896936. 4

Question Number : 110 Question Id : 1908891751 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of *a’ so that f (’1) = Sinx — Cosx —ax + bdem‘eases for all real values of X 15
given by

GE",'E
(1{\,-5
a=1

a<l

f—y

Options:

1908896937. 1



1908896938. 2
1908896939. 3

1908896940. 4

Question Number : 110 Question Id : 1908891751 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘2’ @ a8 A, 908 « F wel aaeE A &
g f(x) = Sinx — Cosx — ax + b grgarey ¥ rfRfRe cary Ry s &

A"

oW
=T = T = = |
AN A

Options:

1908896937. 1
1908896938. 2
1908896939. 3
1908896940. 4

Question Number : 111 Question Id : 1908891752 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If f(x) = log,(logx) then f(x) at X = € ig

e W
O =W =™

Options :

1908896941. 1



1908896942. 2
1908896943. 3

1908896944. 4

Question Number : 111 Question Id : 1908891752 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afy f(x) =log,(logx) g grx=eqr (X .

I €

1

2 B

3 1

4. 0
Options:

1908896941. 1
1908896942. 2
1908896943. 3

1908896944. 4

Question Number : 112 Question Id : 1908891753 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of ﬂ__ so that the sum of squares of the roots of the equation

x°—(A+1Dx—-A+2=0

_assume the least value 1s

| P |
2., 2
3. -1
4. -2
Options:

1908896945. 1

1908896946. 2



1908896947. 3

1908896948. 4

Question Number : 112 Question Id : 1908891753 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dar a5 7w, o waewor ¥~ (A4 DX =M+ 2= 0% g & aoft a7 ar
7eATH Aol TEYT FAl g, felifol i@ &

1

4

-1

7

| o

S ]

Options :

1908896945. 1
1908896946. 2
1908896947. 3

1908896948. 4

Question Number : 113 Question Id : 1908891754 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- -

'l:‘
_+-_—,=l{ﬂ}b) ¥Z —y% =2 :
and - - cut at right angles, then

If ¢ b®
, @ +b*=2c?
, B=a® =2
5 5 =h* =2¢F
, @’b* =2c?
Options :

1908896949. 1
1908896950. 2
1908896951. 3



1908896952. 4

Question Number : 113 Question Id : 1908891754 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£+£:1 >b " . T :
afe a2 | b2 (a )a-arrl —."z—fwqu?m?a’r

|, @ +Db?=2c%y
b? —a* = 2c%y,

| S

3. @@ —b* =27y,
g @Pb* =27y

Options :

1908896949. 1
1908896950. 2
1908896951. 3
1908896952. 4

Question Number : 114 Question Id : 1908891755 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Sin x

e ik —tnik Cnsxdr 1s equal to

x 1

l. =—=log|Sinx —Cosx|+c
2 2
1‘ 1

2. —+—log|Sinx —Cos x|+ ¢c
2 2
.1' 1

3. —+—log|Sinx +Cosx|+c
2 2
x 1

4, - log|Sinx + Cos x|+ ¢

Options :



1908896953. 1
1908896954. 2
1908896955. 3

1908896956. 4

Question Number : 114 Question Id : 1908891755 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sin x
I= J-5:'11 x—CszdK g’ :

x =

1. ——=log|Sinx —Cos x|+ C
2
X B _

2. —+=log|Sinx —Cos x|+ ¢
2 2
x 1 _

3. E+ E!ogISmx +Cosx|+c
x 1 _

4. ——=log|Sinx +Cos x|+ c
.

Options:

1908896953. 1
1908896954. 2
1908896955. 3

1908896956. 4

Question Number : 115 Question Id : 1908891756 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



rrqu ]
fﬂ “|Sin x — Cos x|dx .

The mtegral 15 equal to

242
2(V2-1)
2(vV2+ 1)
vV2+1

il

Options :

1908896957. 1
1908896958. 2
1908896959. 3

1908896960. 4

Question Number : 115 Question Id : 1908891756 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mj
J, "2ISinx — Cos x|dx

THTFA CRiCEd

1. 2V2
2(V2-1)
2(V2+ 1)
vri-i-]

[ ]

e

Options:

1908896957. 1
1908896958. 2
1908896959. 3
1908896960. 4

Question Number : 116 Question Id : 1908891757 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B L ——
The area 1n the first quadrant between X“HY =TT g Yy =S X

n®—8

sq.units

3 :
2. — sq.units
4

md— 16 _
3. 3 5q.units

3-8

5q.units

Options :

1908896961. 1
1908896962. 2
1908896963. 3

1908896964. 4

Question Number : 116 Question Id : 1908891757 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X2+ y* = gy =Sinx ¥ drg v IJUTT H 895 ¢

73— 8

1, 4 g THE
HE

2. 4 o
73— 16

3. 4 T =S
n®— 8

4. 2 gz

Options:

1908896961. 1
1908896962. 2
1908896963. 3

1908896964. 4



Question Number : 117 Question Id : 1908891758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A normal at any point (% ¥) to the curve ¥ = F1¥) cuts triangle of unit area with the axes. The
equation of the curve is

n
2 5 fdy\* dy
1. J"— s (..}..) i 4..i

dx dx
242 d}r-}- q(d}‘)z Zd'r
g i byt ] =i
ke T Adx dx
i q(d}’jz dy
3 x—vy°|l—] =—
© \dx dx
+ d}-’
4 X+y—=y
@ dl e
Options :

1908896965. 1
1908896966. 2
1908896967. 3

1908896968. 4

Question Number : 117 Question Id : 1908891758 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Rt fig (V) o e ¥ = () a7 o il < 3087 & W oo et
Feer hree | e, O $r FHET §

1. J,E —y2 (-d—t)L = 4({1

dx dx
(h’ d}' 2 d'p
2 P+ y—+ .12(_-) _ 9%y
" dx 4 dx dx
v z(d}’)z dy
3. xt =y |—] =—
© \dx dx
4 x+ o
. XTV—=7VT
Ty -

Options :

1908896965. 1
1908896966. 2
1908896967. 3

1908896968. 4

Question Number : 118 Question Id : 1908891759 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. dy :
The solution of d_ + 2ytanx =sinx, 1s
x

1. ysec®x =sec’x+c
). ysec’x =secx +c
3, ysinx =tanx + ¢

4. ysinx = sec®x+c¢

Options :

19088969609. 1
1908896970. 2
1908896971. 3

1908896972. 4



Question Number : 118 Question Id : 1908891759 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy ,
2 4 2vtanx = Sinx
g FTEA &

y sec®x = sec’x + ¢

1.

, ysec x =secx +¢cC

; Yy Ssinx = tanx +c

4 Yysinx =sec®x+c
Options :

1908896969. 1
1908896970. 2
1908896971. 3
1908896972. 4

Question Number : 119 Question Id : 1908891760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- — A
A unit vector which is coplanar to the vector @ = { + j + 2k and b = { + 2j + k and

: - - - “r
perpendicular to the vector C =1+ j+ k is

L]
V2
k
: —@)
; -1+k
i
4 +(i‘+j‘+k)
T —\;@
Options :

1908896973. 1

1908896974. 2



1908896975. 3
1908896976. 4

Question Number : 119 Question Id : 1908891760 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wmHﬁ"ﬂ.a’ra=f+f+2§ﬁ?5=i+2f+§$miﬂ'ar%m
Ry C =itk g & AfafRa ¥

[ ]
-+l
- ‘ |)
B3] i
b

Options :

1908896973. 1
1908896974. 2
1908896975. 3

1908896976. 4

Question Number : 120 Question Id : 1908891761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle formed by the points A(0.7.10). B(-1.6.6) and C(-4.9.6) 1s

Equilateral

Isosceles but not right angled
Right angled but not Isosceles
Right angled Isosceles

b

-

Options :



1908896977. 1
1908896978. 2
1908896979. 3

1908896980. 4

Question Number : 120 Question Id : 1908891761 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faig3it A(0.7.10). B(-1.6.6) 3 C(-4.9.6) & =T T3 &I & :

l. WHETE
4. AHAFIUITT FAGIISTG

[ ]

L]

Options :

1908896977. 1
1908896978. 2
1908896979. 3
1908896980. 4

Question Number : 121 Question Id : 1908891762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-3
Letthelie 2 -3 4 lieinthe plane x-y+az+b=0

x-1 y+2 Z

fb—ﬂ

. The value o
15

b —

L]

=
e | LA 2, =



Options :

1908896981. 1
1908896982. 2
1908896983. 3
1908896984. 4

Question Number : 121 Question Id : 1908891762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ART R E 2 -
mb-txmam i

x—1 y+2 z-3
T

W.{-.1*+ﬂz+b=[}ﬁmm§|

| R

ot
et L, —

Options:

1908896981. 1
1908896982. 2
1908896983. 3
1908896984. 4

Question Number : 122 Question Id : 1908891763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The equation of a plane passing through the line of mtersection of the planes Xx+2y+3z=2

2

and at a distance V2 from the pomt (3,1.-1) 15
The value of & +b+c+d 15

g X—y+5=3 ax +by+cz+d=0

11
-11

d bk

e g
| -
[

Options :

1908896985. 1
1908896986. 2
1908896987. 3

1908896988. 4

Question Number : 122 Question Id : 1908891763 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FAdar X T2V 32 =2 3ixr ¥ ~V+2=3 g ofedd) - T@r ¥ B IR A A

Rig (3,L-1)# g V3art wew @1 welwwor QX Thy +ez+d =0y

11
-11

[ S I

e Lad
-
-l

Options:

1908896985. 1
1908896986. 2
1908896987. 3
1908896988. 4

Question Number : 123 Question Id : 1908891764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For any two events A and B, P(A) = P(A|B) = i and P(B|A) = L Thia ki o e

following 1s NOT correct?

. ]

[

1. P(A|B) =

2. P(BJA) =

Options :

1908896989. 1
1908896990. 2
1908896991. 3

1908896992. 4

Question Number : 123 Question Id : 1908891764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A) = P(A|B) = i P(B|A) =

By ] ==

ﬁﬁ*‘ra’rmaﬁaaﬂm%ﬁtrp(
T rors e e 0 e o s

3R gl d.

Options:

1908896989. 1



1908896990. 2
1908896991. 3

1908896992. 4

Question Number : 124 Question Id : 1908891765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A and B are two mndependent witnesses in a case (ie. there 1s no collision between them). The
1 3

probability that A will speak the truth 1s 3 and the probability that B will speak the truth 1s 4.
A and B agree 1n a certain statement, The probability that the statement 1s true is

2

‘]__ -
5

3

Z =
5

4

3_ e
5

1

4 =
5
Options :

1908896993. 1
1908896994. 2
1908896995. 3

1908896996. 4

Question Number : 124 Question Id : 1908891765 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forelt Amer (RRufe) & A 3R B &Y Taaw e & (3 3o 5 elvemera @y
1 3

2)| A% TT AR 1 NG 2 ¥ T BEF T ae G WfAE 4 ¥ AR v
AYT A AR BUEAT g1 39 FUT F T @A I WiAawr ¢

Options :

1908896993. 1
1908896994. 2
1908896995. 3

1908896996. 4

Question Number : 125 Question Id : 1908891766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mummum value of

z=5x-17y . subject to the constraints

r¥Fy<lL2—3ppFo=20x20y=10

, 15 given by
I 2
2. -10
3. -13
4. -14
Options:

1908896997. 1
1908896998. 2

1908896999. 3



1908897000. 4

Question Number : 125 Question Id : 1908891766 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jt Xty <72x-3y+620x20,y2 05 sigigz=5 -7y gy
FATH A §

I; 2
2. -10

3. -13
4. -14
Options :
1908896997. 1
1908896998. 2
1908896999. 3

1908897000. 4

Question Number : 126 Question Id : 1908891767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s T b !

N EN 15 always divisible by

. then

| S
e i 2 =
o L

L

LT

Options :

1908897001. 1
1908897002. 2
1908897003. 3

1908897004. 4



Question Number : 126 Question Id : 1908891767 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aﬁnEN?.HT?ZH+23n_3'3n_lﬂ'aﬁ'ﬁ ﬁﬁ mﬁ —~ %_:

LIS
b I =

e L L L

=
e

Options:

1908897001. 1
1908897002. 2
1908897003. 3
1908897004. 4

Question Number : 127 Question Id : 1908891768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If z satisfies the equation |Z| — z = 1 + 2i, thenz is equal to

1. — 4 2i
2

3 .

2 o=
7.

3

3 el

2

3

4 24 —i

2
Options :

1908897005. 1
1908897006. 2
1908897007. 3
1908897008. 4



Question Number : 127 Question Id : 1908891768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At z @i 12l — 2 =1+ 2igy dqee aear & 2 /R &

1. =+ 2i
2

3 .

2 ==&
2

3,

<

2

-

4, 24+-=1

2
Options :

1908897005. 1
1908897006. 2
1908897007. 3

1908897008. 4

Question Number : 128 Question Id : 1908891769 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of 7 consonants and 4 vowels, the number of words (with or without meaning) that can
be made, each consisting of 3 consonants and 2 vowels, is

24800
25100
25200
25400

b —

P Lo

Options :

19088970009. 1
1908897010. 2
1908897011.3

1908897012. 4



Question Number : 128 Question Id : 1908891769 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7E0SAT AR 4 TR & FAIC S G arel UF erear A g (31 ar o 3
arel). e 3 eaea Y 2 T aiEAted gl Rt ¢

24800
25100
25200
25400

b —

it

Options :

19088970009. 1
1908897010. 2
1908897011.3

1908897012. 4

Question Number : 129 Question Id : 1908891770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers, with sum of the digits equal to 10 and formed by using
the digits 1.2 and 3 only, 1s

55
06

L]
Hi

88

| S

e s

Options :

1908897013. 1
1908897014. 2
1908897015. 3

1908897016. 4



Question Number : 129 Question Id : 1908891770 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I 3t aTelr O e HEAHT T HEdr, e 3 T AT 10 Y T A
3 1, 23R 3 F & Iuaer R g Eetea §

55
06

iyl

88

[ e

e

Options :

1908897013. 1
1908897014. 2
1908897015. 3

1908897016. 4

Question Number : 130 Question Id : 1908891771 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 10

_—
" (\f-“( +—=
The coefficient of the term mdependent of Yin the expansion of VA7 is equal to
1. 10
2, 252
3 20
4. 256
Options :

1908897017. 1
1908897018. 2
1908897019. 3

1908897020. 4

Question Number : 130 Question Id : 1908891771 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(-‘T-{—L)m
VTR & guR # @ T@dT 9 1 90NF e ¥

10
252

20
256

| S

=

Options:

1908897017. 1
1908897018. 2
1908897019. 3

1908897020. 4

Question Number : 131 Question Id : 1908891772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— 10
(\-"2 + i“ﬁ) £

The sum of the rational terms in the expansion of

T
Lh MO s Lo
—

=

Options :
1908897021. 1
1908897022.

1908897023.

A W N

1908897024.

Question Number : 131 Question Id : 1908891772 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

(vZ + ¥10) " . -
¥ & JaR & IRAT YT & AT §

o o b
(LY R R 5
= — 2

Options :

1908897021. 1
1908897022. 2
1908897023. 3

1908897024. 4

Question Number : 132 Question Id : 1908891773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I lx|,Ix=1| and |x+1

equal to

are first three terms of an A P, then the sum of its first 100 terms s

2000
1500
3000
2500

o

Ll

Options :

1908897025. 1
1908897026. 2
1908897027.3

1908897028. 4

Question Number : 132 Question Id : 1908891773 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gy bl =1 st I+ U ey 4 p. % o 17 o2 & G 3% wUR 1009eY & AN
TR E

2000
1500
3000
2500

= o D

Options :

1908897025. 1
1908897026. 2
1908897027. 3

1908897028. 4

Question Number : 133 Question Id : 1908891774 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mcenter of the triangle with vertices A(0.0), B(2,0) and C(1, N'E )15

(%)
5 25 "

k. i
> (37

3 43

1

3. (1,—?:)

V3

(2 \,'rg

* A3’ 2

Options :

1908897029. 1
1908897030. 2
1908897031. 3
1908897032. 4

Question Number : 133 Question Id : 1908891774 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

it A(0.0). B(2.0) 3R C(1. V3 ) arel T[T &7 37: &g ¢

1,—
2

1.

G

3'V3

5. (1)

v3

(5%)

4, | =—,—

-
Options :

1908897029. 1
1908897030. 2
1908897031. 3

1908897032. 4

Question Number : 134 Question Id : 1908891775 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The eccentricity of the hyperbola passing through (3,0) and (3\&, 2) and having 1t’s axes along
the coordimate axes 1s

=t
-
s—l‘I
L]

-
1—1‘| s
Cad

SRd i

=
e |
LS

Options :

1908897033. 1



1908897034. 2
1908897035. 3

1908897036. 4

Question Number : 134 Question Id : 1908891775 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6.0 3 3V2.2) & g o o e e vt 5 e vt o

fawaey 1 Iohedr £

V13

- - -
Lad (% | Lad

|

* |

Options :

1908897033. 1
1908897034. 2
1908897035. 3

1908897036. 4

Question Number : 135 Question Id : 1908891776 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=, X; = 20

The standard deviation of ™ observations *1:X2: """ Xp jg 2. |f &i=1

X =100

and

,then s

10 or 20
50r10
5o0r20
5orl5

| S ]

eelith e

Options :

1908897037. 1
1908897038. 2
1908897039. 3

1908897040. 4

Question Number : 135 Question Id : 1908891776 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o 9&oTt X1 X2 X 7 AT TaTeret 2B ZI"I.'E\'E?:i A= EOWE;LIIE = 100
g n TR §

1. 1091 20
2. 59110
3. 59T 20
4. 59115
Options :
1908897037. 1
1908897038. 2
1908897039. 3

1908897040. 4

Question Number : 136 Question Id : 1908891777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



11 1
2 3

If the value "n occur at frequencies 1.2.3,..." in a distribution, then the mean is given

by

2
n+1
Options :
1908897041. 1
1908897042. 2

1908897043. 3

1908897044. 4

Question Number : 136 Question Id : 1908891777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1

1 il |
o Rl ae & A 23 AR A 103, 0% T A @ A
SHEH ALY ¢

n+1

Options :

1908897041. 1
1908897042. 2
1908897043. 3

1908897044. 4



Question Number : 137 Question Id : 1908891778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If P (Mp \ xQ) 15 false_ then the truth values of P and 9 are respectively,

L.

e
= i o]

e
=

Options :

1908897045. 1
1908897046. 2
1908897047. 3

1908897048. 4

Question Number : 137 Question Id : 1908891778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afg P~ (CPV~Q) 3aeg £ v P 3R O F T A FAE: §

S L )
2 BH
3. BT
4, T
Options :

1908897045. 1
1908897046. 2
1908897047. 3

1908897048. 4

Question Number : 138 Question Id : 1908891779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



-
e

Complete solution set of [ < 1 1s given by

x—1

1. (=0,1) U (1,00)

2 —1—+/5 —1 +/5]

- - 2 ’ 2 E
—1— 5 —1++/5]

3. i 3 U(1l.o0)
| 2 2 ]
—1++/5

. _*f_l)

2
Options :

1908897049. 1
1908897050. 2
1908897051. 3

1908897052. 4

Question Number : 138 Question Id : 1908891779 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e

< 1 F §YUT g WH=AT feaAton@d ganT fear amar § ¢

x=-1

=

- (=00, 1) U (1,0)
—1—+/5 —1++/5
\ . v 2
;. [—1— V5 —14+45
2 v 2

A _!_ |'l'_
" I1_~5 1)
2

Options :

[ ]

U(1,00)

1908897049. 1
1908897050. 2

1908897051. 3



1908897052. 4

Question Number : 139 Question Id : 1908891780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least velocity with which a cricket ball may be thrown 80 m horizontally 1s

28 m/s
35m's
0.8 m/s
71 m/s

bt

g

Options:

1908897053. 1
1908897054. 2
1908897055. 3
1908897056. 4

Question Number : 139 Question Id : 1908891780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

;@mwmﬂmﬁrwﬂaﬁaﬁm SG111@H$W3TW%~
rfatad §

28 m/s
35 mis
9.8 m/'s
71 m/s

B N o R

Options :

1908897053. 1
1908897054. 2
1908897055. 3

1908897056. 4



Question Number : 140 Question Id : 1908891781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resultant of two forces acting on a particle is at right angles to one of them and its
magnitude 15 one third of the magnitude of the other. The ratio of the larger force to the
smaller one 1s

| 3:2v2
, 3v3:2
3:2
g &3

Options :
1908897057. 1
1908897058. 2

1908897059. 3

1908897060. 4

Question Number : 140 Question Id : 1908891781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fordl T W FRERA & ol F1 IRUTHT g 34 ¥ UF dof W od § duT S
TRHAT 3§ & TRAT F 0 - OGS B 93 I F B I A [ £

3:2V2
3v3:2
L
4.3

e

o T

Options :

1908897057. 1
1908897058. 2
1908897059. 3

1908897060. 4



Question Number : 141 Question Id : 1908891782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

e —x+1
g ¥ HH g

1
Assertion A: If Xbe areal number. then 3 = x%+x+1

(—'r n‘) sec” @+tan @

Reason R: If & be a real number Iying between * 2 "2/ then sec® 6~tan 8 does not Lie between

1
3 and 3

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A is not correct but R 1s correct

e Ll b

Options:

1908897061. 1
1908897062. 2
1908897063. 3

1908897064. 4

Question Number : 141 Question Id : 1908891782 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A & FUA U A0 § : TF F ARFUA (A) 3N T F FROT (R) FT A g

1 x2-x+1

. Se——<
FRFYA (A): A < UF qAfasd JEAT §.ar 3~ x%+x41 3%I

T) sec” §+tan B

R}!uﬁgm( H g g.ar ﬁ?i*ﬁﬂﬁsecﬁtansﬁﬂﬁ

el &l
I FUA & 3ol A fAwiiehd fAehedt # F T 3ok o

—

. (A) 3R (R) ST |ET § AR (A) F(R) TET TISCIT £

- (4) 3R (R) @ HEY E W .A}H(R)F?fﬁ'@ﬁﬂ'ﬂﬁﬁ gl
. (A)TIE. R (R) TG

. (A) WAL R (R) FAE

i-..-

".._.u

i

Options :

1908897061. 1
1908897062. 2
1908897063. 3

1908897064. 4

Question Number : 142 Question Id : 1908891783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: If “n denotes the sum of ™ terms of a G.P. whose first term and common ratio are
na ar(1-r")

S5ttt = -

@ and Trespectively, then

na ar(1-r)
S1+8+8 T+ +85, 1= - =
P T -r (=12 (1+7)

Reason R:

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 15 not correct

4. A 1snot correct but R 1s correct

b —

Options :

1908897065. 1
1908897066. 2
1908897067. 3

1908897068. 4

Question Number : 142 Question Id : 1908891783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A & FU T a0 § ;@ A GG (4) 3R gE F FROT(R) F W B

HHFAA (4): IR Sn UF GP. F YUH 0 UG F AT . foGH A 9T 23R @

na ar(i-r")
S 18+ +--1+8, =—-—

O o & l-r (1-* g
na ar(1-1r™)
SI+SE+S5+”'+ S:n_l = ‘_ 3 i

TTFT FYA & el A AR awedt # & W IR >

—

. (A) AR (R) T FET E AR (A) FT(R) TET TSRO ¢
(AR (R A FEE T () FT(R) TE FTET A B
- (A) TIE ] (R) A6

(A) I . Req (R) T &

=N L% |

Options :

1908897065. 1
1908897066. 2
1908897067. 3
1908897068. 4

Question Number : 143 Question Id : 1908891784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements, one 1s labelled as Assertion A and the other 1s labelled as
Reason R

J:'= 1-',:
_+_:1
4

2 2
B b® where

Assertion A: The circle 15 an auxiliary cirele of ellipse

h<2

Reason R: A given circle 1s an auxiliary circle of exactly one ellipse.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A 1s not correct but R 15 correct

e Tad e e

Options :

19088970609. 1
1908897070. 2
1908897071. 3
1908897072. 4

Question Number : 143 Question Id : 1908891784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088970609. 1
1908897070. 2
1908897071. 3

1908897072. 4

Question Number : 144 Question Id : 1908891785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II
X)= ‘ L. Re= (1,00
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Choose the correct answer from the options given below:

A-TM.B-I.C-II.D-1IV
A-IMII.B-II.C-ILD-IV
A-II.B-IV.C-1.D-1III
A-II.B-LC-IV.D-1III
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Options:

1908897073. 1
1908897074. 2
1908897075. 3
1908897076. 4

Question Number : 144 Question Id : 1908891785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A-TII.B-II.C-L.D-1IV
A-II.B-IV.C-1.D-1III
A-ILB-LC-IV.D-1III
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Options :

1908897073. 1
1908897074. 2
1908897075. 3
1908897076. 4

Question Number : 145 Question Id : 1908891786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List I
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Choose the correct answer from the options given below:

A-IILB-NML.C-LD-IV
A-II. B-LC-IIL.D-1IV
A-M.B-I,C-L.D-IV
A-TML.B-LC-IV.D-1I
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Options :

1908897077. 1
1908897078. 2
1908897079. 3

1908897080. 4

Question Number : 145 Question Id : 1908891786 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908897077. 1
1908897078. 2
1908897079. 3

1908897080. 4

Question Number : 146 Question Id : 1908891787 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II
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Choose the correct answer from the options given below:

A-II.B-LC-IV.D-1III
A-II.B-IV.C-1.D-1II
A-IV.B-IMML. C-II.D-1I
A-ILB-NMLC-II.D-1IV
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Options:

1908897081. 1
1908897082. 2
1908897083. 3
1908897084. 4

Question Number : 146 Question Id : 1908891787 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908897081. 1
1908897082. 2
1908897083. 3
1908897084. 4

Question Number : 147 Question Id : 1908891788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let 4and Bbe any two sets. Which of the following are correct?

L (A-B)nB=0
p (A-B)UB =0
c (A—B)NA=AnNB
5 (A—B)UB=AUB

Choose the correct answer from the options given below

1. AandD only
2. A CandD only
3. BandD only
4, B.C and D only

Options :

1908897085. 1
1908897086. 2
1908897087. 3

1908897088. 4

Question Number : 147 Question Id : 1908891788 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908897085. 1
1908897086. 2
1908897087. 3

1908897088. 4

Question Number : 148 Question Id : 1908891789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?
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if @ and b are two vectors such that |ﬂ 2a+b,

A , , then 1s perpendicular to
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B. For any three vectors a,b and ¢
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C. The area of a parallelogram having diagonals and
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5 3 R T e = my =
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D.If a,b,c are three vectors such that then

Choose the correct answer from the options given below:

. A.BandD only
Aand D only

. Band D only

. Aonly
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Options :

1908897089. 1
1908897090. 2
1908897091. 3

1908897092. 4

Question Number : 148 Question Id : 1908891789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908897089. 1
1908897090. 2
1908897091. 3

1908897092. 4

Question Number : 149 Question Id : 1908891790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

AT =1-142 = —2+4 gy L (zlz:) = 2

Z
| i—1
B.Ifz= T then |z]| = V2
CosS=+1isin=
3 3
T
C.If the argument of Z — 2 — 31 is E . then the locus of z 1s a straight line

D. The value of (1 — f)4 e S i]4 is 8

Choose the correct answer from the options given below:

B and C only

A and C only
A. B and C only
A.B.CandD
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Options :

1908897093. 1
1908897094. 2
1908897095. 3

1908897096. 4

Question Number : 149 Question Id : 1908891790 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908897093. 1
1908897094. 2
1908897095. 3

1908897096. 4

Question Number : 150 Question Id : 1908891791 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



: In x ; . :
For the function f(x) = —= . which of the following statements are true?
x

A. f (x) has horizontal tangent at ¥ = €
B. f (x) cuts the x-axis only at one point
C. f (x) 15 many-one function

D. i (x }has one vertical tangent
Choose the correct answer from the options given below:

1. A. B andC only
2. Aand B only
B and C only
A. CandD only
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Options :

1908897097. 1
1908897098. 2
1908897099. 3

1908897100. 4

Question Number : 150 Question Id : 1908891791 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908897097. 1
1908897098. 2
1908897099. 3

1908897100. 4



